(4)

(b) Define any one of the following giving suitable

examples :
m Alliteration
(1)  Personification. 6 marks
(¢)  Give phonemic transcription of any five words :

(i)  Nature (i) Eternal (iii) Prosper
(vi) World

5 marks

(iv) Reason (v) Reign
(viiy Company (viii)) Awake.
or

(For blind candidates only)

Give antonyms for the following words : (Do any five).

(1 Rough (1) Wise (it1) Rustic
(iv) Presence ?v. Outworn  (vi) Empty
(vii) Tender (viii) Fresh.
(d) Write synonyms of any four words :
(i) Iovely (11) Rough (iii) Prey
(iv) Forbade (v) Tireless (vi) Widening.
4 marks

Write an essay on any one of the following in about
300 words :

(1  Drugaddiction
(i)  Risingprices
@) Influence of modem technology

@iv)  Youth and politics. 12 marks

et \
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Time allowed : 3 hours] [Maximum marks : 80

Note :  All questions are compulsory.

1. Explain the following stanza with reference to the context :
Shall I compare thee to a summer’s day ?
Thou art more lovely and more temperate ;
Rough winds do shake the darling buds of May.
And summer’s lease hath all too short a date :
or
Where the mind is without fear and the head is held high ;
Where knowled geis free:

Where the world has not been broken up into fragments by

narrow domestic walls. 8 marks

2.  (a) Answer any six of the following questions in a word/

phrase/sentence :

(1)  Name the writer of the poem ‘Know Then Thyself’.

)  Explainthe line ‘the paths of glory lead but to the
grave.

() Whydoes the poetrefer to the urn as ‘cold pastoral’ ?

(iv) Whose statue did Claus of Fsmg.cmw cast in bronze
for the Duke ?

(v)  Howdoes Yeats nostalgically recall his beloved ?

(vi) How is the “World broken by narrow domestic
walls’ ?

31 T



3.

(2)

(vii) Why are the bangle sellers going to the temple
fair?
(vil) 'What makes the woman uncomfortable in ‘Another

Woman’ ? 6 marks

(b)  Answerany two of the following questions in about 100
words each :

()  Discussthe development of the theme of transience
and permanence in the poem ‘Ode on a Grecian
Umn’.

@) Comment on the title of the poem ‘“When You
Are Old’.

@iy Attempt a character-sketch of the Duchess from
your reading of "My Last Duchess’. 6+6=12

Answer the following in about 200 words :

“The World I's Too much With Us’ is a criticism of life in this
modern mechanical world. Discuss.

or
Explain the beauty and significance of bangles as brought out

by the poet in his poem *The Bangle Sellers’. 12 marks

(a)  Attemptany 15 outof the following :
Choose the correct option to complete the sentence
i Tdislike  les. (telling, to tell)

_ hard.

{(to work, working)

(i) ‘our future depends on your __

¢y  Thistableis worth _____ . (to buy, buyingj

(v) Hisaimwas _good marks. (getting, to get)

8

1

851

(3)

Fill in the blanks with suitable prepositions :

(v) Howdidyoucome____ thisring?
(vi) Sheisblind____ oneeye.

(vii) Treturned from Delhi ___amonth.
(vii) Theriverabounds ______fish.

Identify and underline the main clause and subordinate

clause in the sentences given below.

(ix) Helostthe book that Thad given him.

(x) Ilike the students who work hard.

(xi) Listen to what your teacher says.

(xii) He fulfilled his promise that he would help me.

Fill in the blanks by using ‘verb’ givenin brackets :

(xii) Mohan______ his work. (do)

(xiv) The parents _____there baby Mahesh. (name)
(xv) My father______anew penforme. (buy)

(xvi) She____ veryfat.(grow)

Combine the following sets of simple sentences using the
conjunctions given in brackets :
(xvi)) The box is too heavy. No one can liftit.
(100 ... to)
(xviil) Rameshis very rich. He is a miser. (although)
(xix) The sumis very difficult. We cannot solve it.
(50 ... that) = 15 marks

(xx) Sheis good, she is beautiful. (as ... as)
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e : g 997 A & N
1. frfofed s & @ & &1 auET arer F
() o, ¥ god weRC oW,
FE, Tl 1 bl d SO - & qR ?
T ma qE 7
9 g o @ A
A AT H A
o, ¥ 930 FeH I |
() o757 | 95 9YHT A9 EEN |
STEl Yed o et @i e O W
Y e T G W, T @ a6 R a9y,
feen Sia-sRar W 57 FHFH T |
(ii) e R T ™ §,
[ A AT ® TR,
FE @ ¢ ‘o g8’ e @ R
& o, dfe ¥ gg € fordl
et forae et
S 38 4T |

855 [P 1.0,



2.

(2)

(v) 27 =7 3 g3 Ram
A TR & YA B
¥ 5 & AT g
a-aﬁﬁ@ﬂ%v
qred 9% @Sl 9¢ W B |
A, i #9 g=X 2 | 2%x6=12

IEetE SureE ety oreEr MU e Rt @ qikias
qiEy T | 8

frfafiag 8 7 91 st & I dfsra

(i) HFrereT T % Fed B A

(i) STASTET UEE B e P [T
(i) 7 % rem A Qe

(iv) T & F1=F &l 9

(v) WErRd! gur & weg F Fwan

(Vi) TR S9YT STHATT % HIA P AT | 4x4=16

fr=fafaa 4 9 & & usHl & Sav 4

(AN AN

(i) T el Hia @ gy @ dee Fil )

(i) TP & BT FHI ATLHAT B O BT |
(i) ez FreF i fALEan e |

(v) g Fe i R fafeg ) 2x8=16

855

W

(3)
g ge=t & @ & & 397 150 gTef a& g
() Tiftrer 1 FemE F BE A R 7

(i) s @re &1 di oReg R
(i) e @ wRe-E
(iv) e & i e | 2x5=10
Wﬂ@@mﬁ&wwﬂ&%%

(i) FYET &l TETA I G ﬂm.f

() -7 @ Far ot 2, %w@w&m@aﬂ@wv

(iif) %%%ﬁﬁwﬂ%_:

(iv) A FgER W gEwEs M 0 2x5=10

JEJT UeH F I AT
() GErT FHaa R s 7
(i) ‘FgEa 3 Fea a2 7

(i) ‘dromarfer av ¥ FHaar e g 7

855]

~

(iv) Jf

(v) AR e R B 7

5% FIF T & HAA B A [T |

(V) vEsTe, f2er @ e a8 7
(Vi) 3TFET GHTes e 7

(vill) FFERT #1 ARRT HEET F AT AT | 8x1=8
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e : @t oA # guv o &1

1. R & weidt @ quET e s 6x2=12
(%) 3@ R 3 A A

frae g@ & qaa
qE TH NS Ao
g9 Iq9 B

(@) &9 S0 W@ F o T

qq ol St § fawg,

B 1 S e ¥ ae

e I R) |iea o

e R g ax !

q@r 3 g W IS oy T F -5 F,
& g #8 ¥ e AR R I A T
A0 @; erEwghy A9, AR T IAE T HIAEA

@ Y, wwgm B & T ard g s R

g &l 98 W R, SR

9 Ragarlt, &9 Rgawh faga & @R ?
F gare S 8 s, ‘
&, T B Swl-ge W@ @ o ?

2. gREWRA @@ owEl Terdl aut w1 aifefus wRew AR 7x1=7

857
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(2)

3. &= @ usAl B IR 250 gl 7 §f 4x2=8

4.

(F) ‘RA@ Haq # oY WL HAC

(@) wTEr B A A FEEE ®& s 7 ?

(M) ‘R T HE § Al By B AETe B e =t §
Slicl

(a) ‘ofFa A9 FR & Sesd W i

el & sl W A BT 6x2=12

() “7mem TR TE, Rem Wea g1 §B W A oW, @ A H
T g | g3 SREa F e e A7 O dEe 09 g8 °
fean g @ g3 s gEwar sy

(@) Frafdé & Ren @ 98 qon &, sa5 9 R [ s B
fo SEe @ S @ oTEss o ffea ¥ e @ al
fRrEn & STReRE #1 98 Y R aml & o g R S
TEA & ! AEd Fed 8- O Fe-wES H Wwe U B H
w7

(m) omum § dieae @ At & w8, IEE B e 9 & &
ST 8 ? A EHA g R, g9 & T F g Sk 8 A
@ g T ae R F e g R A, B ger
T B 48 AR Ay

(a) F=a I8 BT Bigar gan SHfE S H A1 W SThaad
T g ol 9% &l 9 9% 98 Qe 7 @Y @ | 9 &
T F AN GAdT 98 Y geh db-a% Eey, Ml B
W IR Resfrl W gy se-aw W, PR gere
u-qu fTRwR olr aifyr # e T B dm T 9N @l
g S

5. W= FAR el A= WS H AiRies WEg A 1x7=7

857

(3)

. g & ust @ ST 200 g § dfw 2x4=8

(%) ‘Bl TG M & A@H B AR B
(@) ‘woR’ FEH & FUME B AAvad [T

() =W erfER’ F@E A AW W RER HR)
(@) E TRl FBE B R W FY |

. fefofeg & @ 5t @ oo ge & SR G 0 2x5=10

(w) U & RfelE & aoF SR

(@) Hfoqa w1 N sl 1 @ FTC

(M) OReciE Fe B T9E STl B a9 BN
(1) “Reriam dfem & gy #fa 817 @ Hivw)

. FrefaRed gl gl & IR 200 g=t 7 AR 2x4=8

() e s H wg@ sghdt & o9 S
(@) ‘ofm X A, A A wq@ wgla B¢ wien Fdw

.?v iR w1 @ 1 PWE ¢ ? e | Swig Hig |
(7) “oame Ofmea @@ & sl #9817 ade SR

. fiofes e g & SR AR ¢ 8x1=8

(%) AR T F T FH gaw ?

(@) F<m T Ba R B HRa 8 7

(M) ‘o SR’ fFE TR A 9fed FwAl 8 ?

(@) gTar e e @ e g 7

(@) FEEER oW wW U AW [

(8) fom #fy & ‘Ffeq wa@ & I’ Fel oM 21
(@) Wy q= = ofes a7 TRy |

() ‘g’ Hfa @ A B | AW 5 7




(Vi)

(4)
gAY 3 Fu g faw § ager 9 ?

@) wIwr g () »ut W 3
(8 usz § (m) ==t §
ez wur gorat v Bud 9 9 7

(vii)

(ix)

®)

860

() 3 da
(@ qromm 7 wudta
agedt T HBa @ W3 T iz for Gt 9 7
@ fordt v () TIwes I9s
(@) wfseliefeenam 33 fBard
3 fias qot v g d I ?

@ 939 fiw oI

(@) Az 3w () g3 dg €St
(@) wftz d9 (A wslu dg feeer
1x10=10
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1. I fa afeafon 9 fan @ @ yiar A3 forfir

ECHE

\&)

(e)

860

He gfew fogw 996 a9,

UF ug I AE 996 d99,

feg formiz €T fms aq,

ve feger fa€° gwaar I |

AN BT WE waremr g |

us st A €1 39 €73,

fom 9@ § 9% @ wfenr @,

ay e Az e dE 3 3

fam Wt guzt wenr € |

wH U@t o @I &

N wagsr Jg fistenr &

33 fiarg WAt €5 ¥, 8% foel we ad” |
ofsor v fg 39 Wit § e ¥ 3T ug = d
Sadt Ay U§ T Ja<, 391 forg € wia |
IHH AT HO® deTE, Y3 gdt 3Bed |

[PTO.



(2)
/M v 33 3 fo owaHw, 9w Y 98 |
Qg & st Ag T=fesi, et ¥ar o 93 |
A "o @r 6o, e 88 918
w3 Jtg aBF Torer fod T IR | 5+5=10
ESEHCCRE :

® amu ) HaEs
- (8 wéwa |
. o%a fiw Wt Ros g3t & dnet qoet § ¥ Quad e
faq | _ 5
. I35 fodni qgatt f&9° fan fEq &t wrfoza uz8s ad |
(8) gt ) T WS e wg
(@) mwist du | 10

@) wgsT I 7F s
() ygre & A

(@ <SIda+Hdt 3 AW
() fefonradt 3 wgawS | 10
. W gur ot ufgs w2 dgF vRe 9T Bugoe @ fuF .
® =g (w) ASE
- (e fhoest (M) Suet | 5+5=10

. HoT dfswi ¥ wdg 3¢ T4 Id FUHS 94

860

8.

9.

(3)
5 foir Afoza maet 9™ fan O e Gt wigew
fog |
Actor, Biography, Comedy, Concept, Content, Director,

Duet Song, Element, Epic, Force, Folksong, Literature,
Journalism, Aptitude, Example.
35 four mofeamlt ymst © gt 839 wic ¥ fau
@ Wt 58 mo 3 fan afe gu e w9 diEt ?
@ aeni (o) et (@) wWE7 (M) Tl
G &% gt o | far at  IEsT I ?
©® wo gis & (w) T W &
A (€ wouowe @@ () €§ Ha &
@) < fam T uSw €3 H3 fimr w7

@ »u () Tt ¢

(8 sz e m A <
(v) 0§ ¢ fuzr = &t ot "t ?

@ st () 93 w&Et

(8) »med AU (m) nizr

v) T3 Wit 3 geftaz afe o faaws fam #ar it ?
@& Azt W () ait WA

(' e wiEr m) <ftg »iar
vi) woft qoEt ey uzg dE I ?
@ famer e () ug
(@ 9vEg r) e Tor
860 | [PTO.
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e g4 geT ST &

1.

2

frefafaa 3 o 4fm -
(i) TEFHR 99 & TF ACH B AW o |
(ii) dTesq @9 & ?
(iii) facim org & 7@ & awr fegwr s3gr &ar @ ?
(iv) Fresr sy arefergs @ 2
(V) ‘& 9o Readh 9 agE e § ? (a1 /9=2)
(vi) ‘oY’ WEg - aiqell @ 9 v & 7
(vii) &5 @9 F B-a1 98 g0 & & ? (& /3T
(viii) ‘g’ urg ® 7 6 Rl &1 g dar @ 2
(qerenfecan)
(%) & & odt & qwET g AR
(i) g & garagyy 9,
ERICCTRUEC AR CNE L
garg A 9y & e,
Raa: srilier ga: 4 shafy
(ii) fo=ilg g sg addEmse w9: |
EEETAad R epeai T i)

861 [Tumover




3.

4.

S.

(2)

(iii) o9 & o=@l auiq gEgEEaRe |
FAY HyFARY: Ay gifar )
(1i1) ¥ AfgemT s’ Hsfegar
T T HiEq Fwafey: |
FreTerigsr 39 &3 T
T J T i |
(@) @ g = FeT R B
(i) SEpryE JHE ormgaar iy 7 Tgy |
(i) ITYT I TR TegHT IUEA |
(®) e TeF B i o w1 v R
arerer
TEHA GE % ACH-TH W H SR
(@) e srar agw@ & aRE-RE @)
(®) Frfofea & @ Bt o) 3 vy s s Bfmw

2x5=10

8
8

4x2=8

F, X, awm, de, o, e, wRg, s

(@) Fefafes 7 & Redl a) 2 g &9 fofae

,mm+mmvﬂ+mﬂ@ﬁ+@wm~mm+ﬁﬂ@ﬂ+ﬁ,
W+ S, A+ Y, T+ g 4x2=¢

(%) Frfofes & B 9 @ Ree 1 g 59 @ A R

T SEy, W, Rew, g, s, drgs,
Forafeea: | 4x2:=8

861

(3)

(=) wﬂ@ﬁmm@igiﬁﬁﬁﬂmzﬁm%@a-

861

(i) & T F @ 2

(ii) == 9T F =@ &)
(iii) =& & w9 9% ¥

(iv) R % arf oiX gy &)
(v) uREM  RFT Hoberar wat ?
(vi) @& [ s ?

(vii) @8 I & dmer 2

(viii) 9% SR W Jear 2

(ix) Toar G 9X e e 2
(X) 431 99 9«

(xi) o @FE B

(xii) o % R R 74
(xiii) S &% STy @ @ o wer B
(Xiv) T ST H 49 3T 2
(xv) a8 97 § 7o )

(xvi) 9RT &9 39 3
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863

1. frfofed @+t uedt & Q-9 Rl § @g s dfv < 8x2=16
() ‘TSI F FA W G HER T2 O TEEy e

foed wmet w o ?

(@) o1 Rame B FRel & gt & A & T w3

& g #ed § 7

(i) ‘E-TeHETE § TR TR A AR B GEr saE] e dF

H ARG BT |
(iv) G H o O w1 AR o SR
(v) & @ FuEl F deer aRvw R

(Vi) 1 o1 g9 O 9 d o vt ¥ e | di
(Vi) ATRYET %o <fee SRR g6 F § R fN @ owd ae o

IR oMM g qu @ e W S|

(vii)) ¥ ERT ot #® e R oA o § yga @ A

863

@) gEFART gET a9 IRy |
T AT g T
) s "R s,
JAeEfaseT | |

g, e o) o & age sivaie o= @ Swa
HIFTT |

2. (%) Redt & el ) aueeT e HivI

5x2=10

[Tum over



(2) (3)

Rofrere Rrerarered, 5. (%) Rl W @ @ B e A 4x2=8
T 2 AEE ga: 1) e A, IeA:, JERIRIBEaH SR,
(i) givT a=RRIE MM, TX: QTN EReAT, R TaeiEaty, Shisverd Qe |
Frivrrregrasd Mgy | (@) e o oA aRy wER-T R ) 8x1=8
AR Fwc, e
TGS e || fremn: T s W o R
) oo sEE g, |
Terg A=Y 9 FH e |
% R weiemgEs,
| TWd g4 TEHHITT (|
(@) ey ¥ abfq gdieT B aRE @ o BRT 6x1=6
. e
Maﬂdﬁywﬂnﬁmmﬁmﬁ%ﬁﬂﬂa%ﬂﬁﬁ
quH g | .
3. (%) Pl AR oRWG sl @) R e wTe AR -

4x2=8
AR, Fagys, e, e, SuEiay, SRaaey |
(@) gy st siemETaE & afttes Wwea Rm 8x1=8

4. (#) & R T @ 7 wE wd wHE w7 oAm 6§ kg
IR, SUFRY, GENI, TYH:, T, sauey, eiey:,

T | 4x2=8

(@) et o 3 Fafifs fe =g fafew - 8x1=8
TG T, R F, - G, T+ JI, § + U,

FLHH, FEHHA, AGHHEY, RAg+aag, Ty, e+,
FEHTH, TR+

863 863
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Note :

e -

Attempt five questions in mtv selecting at least
one question from each unit. Question No. 1 is
compulsory. The part relating to the explanatory note
on map will carry full marks for visually handicapped
candidates only.

gF 7 @ 9 @ T OF 099 & 997 &0 50, F9 Uq 5o
& IO SR | gvT gegr-1 Sfard 81 38T Rt & e
Tl oot are 9 #@ & o @ 5% Ry A

Compulsory Question (stFar gw)

1.  Answer the following questions : 2x8=16
Freffafag wedt & I 4T - 2x8=16

(@)

(b)

(c)

867

Who was the ruler of Delhi on the eve of Babur's
Invasions ?

R B A W AHAT S §I R T A B A1 7
In which year Din-i-[lahi was introduced by Akbar ?
SFAT A EF-U-SE W F G 7

In which year Aurangzeb re-impose Jaziya on Hindus ?
ST 7 Regell o R @ ARy &9 @ ?

[Tumover



(2)

(d) Who was the last Mughal Emperor ?
T 49 F Sfom wue $F a1 ?

(¢) Inwhich year Vasco-da-Gama reached India ?
areRfemE e 9 WRg o ?

(® The battle of Buxar was fought in which year ?
TH B TTE W ol ag o ?

(&) Inwhichyear Awadh was annexed by Lord Dalhousie ?
e SR BN oY w R R’ ad Ren mn ¢

(h) What was the immediate cause for the uprising of 1857 ?
1857 @t il H1 THIND HROT 1 & ? |

Unit-I (33E-1)
Giving an account of the first Battle of Panipat, examine its
significance in history. 16
gHiied A vell @8 # Raww W gU T zfew § omwew
A | 16
Critically examine the Religious Policy of Aurangzeb. 16
AeRT A aife A B T S 16
Unit-II (F#6-10)
What do you know about the causes and significance of Guru
Arjun Dev's martyrdom ? 16
T6 39 39 ot H A F FRON a0 e B AR A AW F A
g7 16
... Desctibe the Provincial and Local administration of the Mughal
emperors. _ 16
T §AE & G o g 9T A # 16
867

(3)

Unit-IIT (3%E-111)

Give a briefaccount of the Anglo-French struggle for political

supremacy of the Deccan. 16
ST o AR B €9 R arg § woEife gateEs @ R
qud F dfr aofe 3y 16

What do you understand by the Doctrine of Lapse ?
Was Dalhousie justified in applying this doctrine to the Native

States ? 16
Y Rrer & o A e ¥ 7 @ A Rt w s R @)
§F T SR F IR w4 ? 16
Unit-1V (35E-1V)
On the outline map of India, show the Political condition of India
in 1526 AD. Also write an explanatory note. 10+6
T B @ TR W 1526 4. F 9Ra R wERE @ B
TAEe | O aerEs Rl ot fifaw ) 10+6

On the outline map of India, show the Mughal Empire at
the death of Aurangzeb in 1707. Also write an explanatory

note. . 10+6
G b Wi AR | OSATOE # 4G 3 99 IO 6IHeg
(1707) =t qaiku| % s uoh @t iR 10+6

867 [Encl. Maps of India




(4)

Tl AFET Al & qeed e B

rJ

(a1) dem (@) 3. . B
(@) =4 (%) =

(viii) Who is the writer of "Introduction to the Principle of moral

and Legislation” ? 2
(a) Bentham (b) J.S.Mill
(¢) Hobbes {d) Rousscau
"Introduction to the Principle of morals and Legislation” %
e & 3 7 2

(1) F=m
(m) #fem (=) =

ot

ReliNo. ... R .
Printed Pages

GSM /D-17
POLITICAL SCIENCE
Paper-I, Opt. (i)
Western Political Thinkers-I

Time ullowed : 3 hoursj

873

[Maxinuon marks . 8

Note : Attempt any five questions. All questions carry equal

mearks.

77 . B g gl

1. Cntically discuss Plato's Theory of Justice.
[ & W T TR R ST W B

2. DiscussAristotle's Theory of Revolution.

3.  Discussthe main Political Ideas of St Augustine.
Ha PTREA & e e A e e et

4. Discuss Machiavelli's views on religion and morality.

wd g AEar g Mo @ e 9 s w1

5. Critically discuss Hobbes theory of Sovereignty.

g g qHETH & foen 3 STaars S &1
6. Discuss John Locke's views regarding Human Nature,
WA W P GEE-IEH e GEd & A B

7. Discuss Bentham's contribution to Political Thought.

“““ 2 PSR S
aadles A @ Aan A 23 3 ogvie 31

& 397 A o g & ¥ gurT £

st o—
(LS >N

O

873 [Tumover




8.  Critically discuss J. S. Mill views about Democracy.
&

9.  Objective Type Questions :

(awgfres )

0

(i)

(iii)

873

Who was the father of Political Science ?
(a) Plato {b) Anstotle
(¢ LS. Mill (d) Bentham

(31) =t (
(@) 3. w. B= (
“amous book of Plato is :

(a) Republic (b) Politics

N

%

3) %d
%) &

{c) ThePrince (d) Social Contract

S & dfom wmw Peed £ 2

(®) Fowm R
@) B (=}

The political ideas of St. Augustine is
{a) Conceptofthecity (b)) Udlitananism

of god

¢y Social contract (dy General Will

w9 ST F EERe W g

(a1} domtm wem wEll (4) wviEER

G
5 £ e x
gy matas ongr (7)) amrg g

el Bard @ reaerens s wi )

..n...

16
16

2x8=16

2x8=16

)

tad

$2

()

)

()

{vii}

873

(3)

Who was the writer of "The Prince’ ? 2
{a) 1S Mill {b) Machiavelli
(¢} Bentham {d) Hobbes
"The Prince' # &w® &4 @ ? 2
() 9. oy, M () Hogmdt
(7)) &em (z) wtem
Who said "Man is born free but he is everywhere in
chains” 7 2
{a} Rousscau (b} Locke
(¢} Hobbes (d) Bentham
:mw& A ﬁww%wzna@i 9% T WA T A
§ ¥ gz we fFud B 2
(o) v Am
(8) et ()
Who justified the Revolution of 1688 7 2
(a)  Aristotle {by Locke
(¢) Hobbes (dy J.S.Mill
1688 @ wiiw @l e I A 7 2
(&) o1 (a) it
(q) ted (z) & o, fa
Who support the open Ballot System ? 2
{2) Bentham (by J.S.Mill
{¢) Plawo {d) Hobbes

[Tumover



9.

(8)
Unit-IV (537¢-1V)

determine it ?

16

T F1 H SOEH AT B e w7 @ PR

T R s o

investment ?

RE!
&&mﬁnﬁdﬂ%ﬂ_vﬁﬁﬂﬁﬁwm

875

16

16
16

7

RoINO. (oo
Printed Pages : 8

Time allowed : 3 hours]

Note : Attempt five questions in all. Qu

875

GSM /D-17
ECONOMICS

Micro Economics-I

[Maximum marks : 80

estion no. 1 and 2 are

compulsory. Attempt remaining three questions, selecting

one question each from any of three units out of the four
units. All questions carry equal marks.
wﬂ&mﬂ%%ﬁ«%@d\gmg.N afyard &1 9 T
ﬁm%d%%m%@%%wﬂw&@mﬂ.@ﬁu
%@%ﬂ\mﬂiwﬁmmﬂw\

Industries in Ludhiana hired labour services from households
for which the households were paid wages. The households
spent some of their wages and save the rest. The industries have
jmported the technology from Japan for payment of which
the industries took loans from banks. On their sales, the
industries have to pay taxes to the government. The industries

make sales not only in domestic market but also export to

Middle - east. 16

Based on this information answer the following questions :
@) Whichmodel is described in the above study ? Explain that
model with the help of a diagram.

875 | :
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2.

i What is the & Iferance
o noe between real and monetary
(i) Identify the real and mozetary flows in the above cas
mﬁ:&v\ oVe case
(iv) Explain the concepts of leakages and injections
R o aamems YN & e H¥
@Eﬁiw%wﬁ&@ﬁ%%ﬂﬁm&n e
wﬁi“d_ﬁ&wwﬁiﬁaﬁﬁ%ﬂmﬂﬂ
- &Tﬁwqiilﬁﬂﬂﬁdﬂﬁ%ﬂmﬁ
wiﬂdﬂ%?iw%»ﬁ@ﬁﬂ%%i%
THT F HT I 1SN Fa WY TR X B 78 a3y
IF T A Pl e ¥ 16
@ LA D AR WP 5o S awr ¥
ﬂagmgﬂ%%%@&dfﬁﬁmﬁ
T # wEa § a5
(@) EEF AT Mo v § wy o 3o
(i) U TC sremaT ¥ qrefyg U AEF FaE B vEE of R
| | G <] 9 q |
osmﬁmﬁﬁmz%%ﬁ%ﬁﬂﬁq%h

() Choose th
€ correct answers from the given alternatives :

875

(3)
According to keynes, the main cause of unemployment was
the deficiency of -
Fe 3 STIET AASEIG F FEA FOT FA A
() Aggregate demand
A AT P
(i) Aggregate supply
77 o #
(i) Consumption expenditure
ST 2T H
(iv) Investment expenditure

e =9 #

(b) Slope of the MEC curveis -

@&%ﬂﬂaﬁgﬁﬂ%@awl
() Upward from leftto right.
I § B0 FA B AH T A
(i) Downward from left toright.
¢ @ 2d AR B aes PR g
(i) A horizontal straight line.
X F4 $ GHERR O
(iv) Curvilinear
g Th |

e n =



(5)
(4)

(c) Say'sLaw of markets was criticized by :

A B IR FrEm B o -

(2) Consumption is a functon of -

ST e &
() Marshall () Income
AT Bl
e % g
@ Labour
(i) Keynes -
9 B &N o T
(i) Pigou
(iv) None of these
4 % g}
= § BE T
(iv) OscarLange | |
m ) 1) Match the following with their correct answers . 5
R T B W . ( = :
P 7 98 S0 @ oY EE B
@ Pl men s o (@) Study of @® Closed economy
A e A - individual units
T AT
() Investment made by citizens of a country. TR SHEEA B A @) Horizontal straight
t 1 (o)
o ar e (b) Investmen | |
line paralle] to X axis
@ Investmentmade by local self government BT X o & SR X X

WHE @ TET B 2R Ay

(¢) Consumption +Saving Gi) Aninjection

(i) Investmentmade by the private companies. I w5 TR
w_aw ? e (d) Autonomous investment (V) Disposable Income
(iv) Allofthese ‘ carve
g
3w o a6 T

[Tumn over
875 , 875




(6)
(e) Three sectors (v)  Micro Economics
SIEECE AR arefomey
(IIT) Answer the following questions : 6
Pt et 3 wee 3 6

(@) Define Marginal Efficiency of capital.
P e s @ qfeAm ¥ |

(b) Write any two weaknesses of Classical Theory of Income
and Employment.

S SR AP & Tt Ry F A FE qaw)
(¢) Whatis Marginal Propensity to save 2

HIEr Fo ggfy e 3 2
Unit-T (3%0-1)

Differentiate between Micro economics and Macro economics,
Discuss the Scope and importance of Macro economics. 16
§ﬁ§§w§w§§Ww§$&w§
wﬁ\wﬁm&ﬁﬁm&ﬁsﬂ_ 16

Explain the various concepts related to national income, Also
explain the interrelation amon g these concepts with the help of
equations. , 16
d&a%@mﬂwﬁ@yﬂjﬁﬁﬂ@ﬂ_mﬁm
ﬁé&w%ﬁmﬂwﬁﬂﬁ&&mﬂﬂwﬁrﬂ 16

875

(7)
Unit-II (FE-10)

5. Supp y
ztatement. )
- s e Y TR AT B AWEATR
: S o 3} S Re - T =z
ST A AT F S N

== NUI:W,,

1 f 1 d @BUMO %Bwbﬁ. .
theonies of ncome an
2 2 L 7
U i U, A . ’ u.

= — 4
T T mw_
<

Z7~d-

Unit-IT1 (3FE-110)

2 Distinguish between APC and

. y tion
7 Whatis consumption func .

V{PC. What are their technical attributes ? nw? m
ﬁ%%ﬁww%m%%%ﬁ%aﬂa% ;
T TG | S e AR g7

the
ensity to consume. What are

8. Explain the meaning of prop N

various subjective and objective factors o
. Ht| gEH FEd Gl
aoirT waf & o A A

16
ﬁﬂqﬁmﬁmﬂ:ﬂmﬂ.@mem

which determineit?

[Tum over
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Printed Pages : 3

GSM / D-17
MUSIC (SITAR)
Hrch

Time allowed : 3 hours] [Maximum marks : 40

Note : The question paper is divided into 3 sections, comprising

e :

1.

of 10 questions in all. The candidate is required to attempt
five questions in all, selecting at least one question from
each section. All questions carry equal marks.

997 U7 F 7 gel 7 aer w7y 8, fred g 10 597 &1 geredf
# T 8 T 0F 597 99% G 7 g7 §T FA G 597 F
g1 it geat & ofw aarT &
Section-A Aﬂdm}ﬁv
Detailed description of the following ragas : 4+4
friia T & o faEr @ R 4+4
(a) Bhairav
CIGH
(b) Bhairavi
GG
Write the notation of Maseetkhani Gat in the Raga Bhairav or
Raga Bhairavi. 4+4
T G a1 At § AT T R 4+4
Detailed description of the following Talas with Dugun and
Chaugun : 4+4
Frefafea aat & ofeE 3 g I SR = faie 4+4
(a) Teevra
GIE]

886 [Turnover




(2)
(b) Deepachandi

CiRE |

Detailed study about the historical development of Tala
system. 8

e gomell & Qi e & aR 7 fwRgds oo At 8

Section-B (@v2-q)

Short notes on the following : 4+4
frefaiaa o feaeh fafaw - 4+4
(a) Parmel Praveshak Raag

T QAL T
(b) Gram

o=
S& is the Swayambhu naad ? Describe in detail. 8
oy TR B8 FBd § ¢ R § R 8
Detailed description of structure and part of Sitar and its Method
of tuning, 4+4
R & Qe fawm ok 3o e @ Rfy e @ g

4+4

Section-C (@"s-H)

Write on the life sketch of Ustad Vilayat Khan and his style of

the Sitar Vadan. 4+4

S faaEd @F  Siad g9 a3 Rar aed A9 W@ ke
4+4

What is the contribution of Pt. Pannalal Ghosh towards music ?
Explain with detail. N

886

(3)

g % 9id 4. o 9 H GREE @ ¢ ! fargds s
P | 8
10. Write in your own words about the origin and development of
Guitar. 8
e & oo a1 e & ar & o =i f ffw 8

886




8 (3
(b
9. (@
(b)

912

(4)

Unit-IV
Find the equation of osculating plane of the curve
x=2logt,y=4t,z=21t+1 2%
Show that the radius of spherical curvature of a
circular helix
x=acosB,y=asinf,z=a0 cota
is equal to the radius of circular curvature 2%
Find the involute of a circular helix 2%
Find the envelope of the sphere

(x—acos8)’ +(y-asin6)’ +2? = b, 2%

RolINo. ...ccvvorrrrrannn. 912
Printed Pages : 4
GSM /D-17
MATHS
Paper-BM-231
Advanced Calculus
Time allowed : 3 hours] [Maximum marks : 27

Note :  Attempt five questions in all, selecting at least one
question from each unit. Question No. 1 is compulsory.

All questions carry equal marks.

(Compulsory Question) |

1. (a) Using e §definition, prove that | x | is a continuous
function. 1§73
(b)  Verify Lagrange’s mean value theorem for f x)=logx
infl, ] 1%

(¢) Evaluate:

lim _(tan™x)’ |

Xx—0 log ATI%V . 1

(d) Let f:R*> > R bedefined as

f(x, %VMMMWu x#0,y=#0.

find lim f(x, y) 1
(x, ¥)=(0, 0)
(6) Writethe necessary conditions for the function f (x, y) to
‘have extreme value at (a, b) 1
(®  Define principal normal, binormal, 1

912 [PT.O.




()

()

4. (a)

(b)

912

(2)
Unit-1
Let fbe a function defined by

¢ Axvu 1, whenxis rational

Show that fis discontinuous at every point ofR. 2%

—1 , when x is irrational

State and prove Darboux intermediate value theorem for

derivatives. 2%
The expansion of function f(x) = (1- xv& is

f(0)+xf' on+u|w~| £ (0x).

Find the value of 0 as x — 1. 2Ys
Show that :
Y _o ex I o
Lim (1+x)*—e+ >4 ex 7e 0,
x—>0 X3 T 16
Unit-11
Show that the msoaoc fdefined by
3
X Y, (xy)=(0.0)
f(x,y)=1 X +%N
0o . (x¥=(00
is continuous at (0, 0) 2%
Ifu=f(r) where r = ,\xw +y°, prove that
2 2
WTW? (r) +~ £1). 2

(b)

(b)

(b)

912

(3)

Ifx and y are functions of u and v defined by

u=x+e’ sinx, v=y+e’ cosX

prove that WM M%c 2%

Expand x*+ x%y* —y* about the point (1, 1) upto the
terms of the second degree. 2%
Unit-111
Show that for the function
2.2
ww _ (x, y) = (0, 0)
f Ax“ %v =< X" +Y
0o . (xy)=00
fxy (0, 0) =fyx (0, 0), even though the conditions

of Schwarz’s theorem and also of Young’s theorem are

not satisfied. 2%
Examine for extreme values
mﬁxwv\vuxa+%|wxm+pxwlwvm 2V

Find the volume of the largest rectangular parallelopiped
that can be inscribed in the ellipsoid

VﬂN v\N Nw

S+t =1 2Y;
a? b ¢ :
Show that the function :

Xy for (% y)#(0, 0)
f(x,y)= < +y
o for (x¥)=(0,0)

is not differentiable at the origin. 2%

[PTO.
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Printed Pages : 3

GSM /D-17
MATHEMATICS

Paper-BM-232
Partial Differential Equations
Time allowed : 3 hours] [Maximum marks : 26

Note :  Attempt five questions in all, selecting at least one
question from each unit. Question No. 1 is compulsory.
All questions carry equal marks.

(Compulsory Question)

1. (@ Fromthepartial differential equation by eliminating the
arbitrary constants from the equation :

Z=ax+a’y’+h. 1%
(b)  Solve the equation ptanx+qtany=tanz 1
(c)  Examine whether the system of equations are compatible
or not ?
% =7x+18y -1
ox
0z
—=9%+11ly-2. 1%
Oy |
(d)  Writetwo dimensional wave equation and one dimensional
Heat Equation. 1%
. Unit-1
2. (@ Solve:ptanx+qtany=tanz 2%
(b) Solve: (x-y)p+(x+y)q=2xz 2%

913 [PTO.




(b)

(b)

(b)

(b)

[913]

(2)
Find the complete integral of :
PXy+pqt+qy=yz
Find the complete integral of the equation :

z2=1+p?+qtby using Charpit’s method,

Unit-1I
Solve the equation :
(D?+2D'D+D?) z =%

Solve :
(D-D'-1) (D-D'-2) z=sin (2x +3y)

2%

b

2%

2%

2%

272

Solve
, 0%z 0%z oz x°

X ) +2 Xy ~X—= -

ox Ox0y X vy
Find the general solution of the partial differential
equation :

2 2

x* mlwlAwN 0 w !Aw‘wn z=xy.

ox oy Ay

Unit-111

Classify and reduce the equation :
&z &z oz oz m _w+N

to canonical form.

Classify and reduce the equation :
o’z (o2

oy

=y tocanonical form.

2%

r
NN

(3)
7. (a) Solve:
r—tcos’x+ptanx =0
(b) Solve:
quZlva =z
Unit-1V
8. (@ Find the characteristic of
2 2 2
xmm|w+mx% Ou +y? 0 wno.
ox Ox0y oy
(b)  Solve the one dimensional heat equation
Fu_1 &
ol ¢’ ot
with boundary conditions u (0, t)=u (¢, t)=0
I
and HIHB u(x, t)=0
9.  Solve the equation :
o’u  du
oy
subject to the conditions :
u(0, y)=u(n, y)=0 forally.
u(x, 0)=k, 0<x<n
and u(x, ©)=0, 0<x<n.
913

2%

2%

2



(4)

force is /x? +y? +z? and the cquation to its lincs of

yZ-zY zX-xZ xY-yX

|
L M N ! 2%

action are

Unit-IV
8. (a) Find the resultant wrench of two given forcesR, and R,

inclined at an angle 6. 2%

(b) On three given screws, whose axes are mutually
perpendicular and concurrent, there act wrenches of pitch
p,> P,» P, Whose resultant is on a screw of given pitch p.
Show that the Locus of this latter screw is. 3
P-p) X+ @E-pY’ +p-p)Z+(-p)(P-P,)
(p —p,) = O the co-ordinate axes being the axes of given
SCTEWS. 3

9. Show that the wrench (X, Y, Z; L., M, N) is equivalent to two
forces, one along the line x =y = z and the other along the line
givenby Lx + My + Nz =0,

x(Y-2)+y(Z-X)+z(X-Y)=L+M+ N and find the
magnitude of the two forces. 5%

Roll No. ..o . 014

Printed Pages : 4

GSM / D-17
MATHEMATICS
Paper—-BM-233
STATICS

Time allowed : 3 hours] [Maximum marks : 27

Note :- Attempt five questions in all, selecting at least one from

1. (a

(b)
©
(d)

(b)

each unit. Question No. I is compulsory.

Compulsory Question

The resultant of two like parallel forces P and Q acting at A
and B, 8 cm apart, is 40 N. If the resultant passes through
C, where AC =3 cm, Find the magnitude of the forces. 172

What is the geometrical representation of moment? 1%
Define coeflicient of friction. 1

Write the condition when the system of forces in three

dimension reduces to a single force. 1

Unit-I
O s the point in plane of triangle ABC. AO meets BCin D.
Show that the components along AB and AC respectively

b

C
= ABand 7o AC

b+c

of the forces represented by AD are

of O is the incentre. 3
Two like parallel forces P and Q act at given points of a
p?

body. If Q be changed to IQ. , show that the line of action

of the resultant is same as it would be if the forces were
simply interchanged. 22

M aver




(b)

4. (a)

(b)

914

(2)

A uniform rod 6m long and weighing 18 kg s placedina
horizontal position upon two pegs 3m apart. If the breaking
pressure of each peg is 10 kg; find the greatest Length
of the portion of the rod that may project beyond either

o}

peg. 3
The moments of a system of coplanar forces about the points
(1,0), (0,2) and (2,3) referred to rectangular axes are
G,,G, G, respectively. 1f 0 be the inclination of the resultant

G, -3G, +2G,
to the axis of x, prove that tan6 = 2G.-G,-G, 2%

Unit-11
A uniform beam of Length 24, rests in equilibrium against a
smooth vertical wall and upon a peg at a distance b’ from
the wall. Show that the inclination ofthe beam to the vertical

/3
s Sin™? E . W

a

A heavy uniform beam is hung from a fixed point by two
strings attached to its extremities. Ifthe lengths of the strings
and beam be as 2:3:4, show that the tensions of the strings

and the weight of the beam are as 2:3: J10. 3

~

A particle isatreston the inner surface of asphere of radius
' Ifthe co-efficient of friction be ', show that the greatest

distance of the particle from the vertical diameter

pr

wma 3

(b)

6. (a)

(b)

7. (a)

)
914

(3)

Asquareholeis punched outofa circular lamina, the diagonal
of the square, being a radius of the circular lamina. Show
that the centre of gravity of the remainder is at a distance

a
34 from the centre of the circle, where 'a' is the diameter

of the circle. 2%
Unit-111

Prove that the virtual works done by the thrustina virtual

extension of a Light rod from length f1o £+84is T.BL,

where T is the thrust in the rod. 2%

A solid hemisphere is supported by a string fixed to a point
on its rim and to a pointon a smooth vertical wall with
which the curved surface is in contact. If6 and ¢ arethe
inclinations of the string and the plane base of the hemisphere

to the vertical, show that tan ¢ u.wiw:o. 3

Two forces P and Q act along the straight lines whose
equations arey =xtana, 2=¢ and

y=-xtano,z=—C respectively. Show that their central

axis lies on a straight line. 3
y. I3 4== it 2%
—=370 %8 77T pQoes20+Q®

A single force is equivalent to component forces X, Y,Z
along the axes of the co-ordinates and to couples LMN
about these axes. Prove that the magnitude of the single

[Turn over



penidpases 3 921
GSM /D-17
POLITICAL SCIENCE
Paper-I opt (I)
Western Political Thinkers -1
Time allowed : 3 hours] [Maximum marks : 80
Note :- Attempt five questions in all, selecting at least one
question from each unit. Question No. 1 is compulsory.
T~ TF FE § T J97 B 997 $0 g F G A9 & I
AT 1 g7 o 1 e 21

1. Short Answer Questions. 2x8=16

WY IAE U

(a) Write the important works of Plato.

@l %l 7@ TEA §ad |
(b) Inhow many parts politics is divided?
qfefed e et 3 Rl R7
(c) Whendid St. Augustine die?
G ST H e %9 ga?
(d) Who is the author of the book "The Prince"?
“g | THE JEE & AU B o
(e) Which theory of the origin of the State was propounded by
Hobbes?
g 4 TG It B a1 R A
() Who propounded the theory of 'General will'?

921

UM 3281 s & Jads B &7

[Turnover



(2)

(2) According to Bentham, mention the nature of state.
T B ATET T B wry 7

(h) Mention two important writings of Mill.
P &1 & Hewyet T e |

Unit-1 (3FE-1)

2. Ciritically discuss the Plato's theory of Justice. 16

Wel & I P UROT F e a5 |

or

3. Examine Aristotle's theory of citizenship. 16

SR & AR T R # wen dhif
Unit-11 (3&7E-11)

4. Critically examine St. Augustine's theory of State and

Government. 16
mmgzmﬂwdﬂﬂﬁzﬁ%wma&ﬁﬁ%f

or

5. Machiavelli was primarily a realist-Discuss. 16

ygea: MfFaEeh gulEr) o ave #¢ )

Unit-1H1 (3%5-111)

6. Compare the views of Hobbes and Locke. 16

B AN Al 3 BE @ qer 5

921

(3)

or
7. Explain Rousseau's theory of 'General Will'.
wHl @ A g R @ arn @it
Unit-1V (37E-1V)
8.  Examine Bentham's views on State.
o & T T RE @ gif
or

9. Examine Miil's views on Liberty.

921

16

16

16



Prnied Poses 5 923]
GSM /D-17
MUSIC (VOCAL) (THEORY)
Paper-I
Time allowed : 3 hours] [Maximum marks : 40

Note :- The candidates will be required to attempt five questions
in all, selecting at least one question from each unit. All
questions will carry equal marks.

Ae:- g% FHE 7 & T & %97 O 997 g9 g9 J 9 997 %4 |
Tt g & ofF T &

Unit-1 (51%-1)
1. Givethe historical study of Rag 'Jai Jaiwanti' with an Introduction.
T ‘SEeEE<N’ F URed et aoi Al it |
2. Write in detail about Raag Chhayanat.
[ ‘B & I 7 W § [
3. Write the notation of a Drut Khayal in Rag 'Gaud Sarang'.
W N TR & 57 & H @I fafaw |

4. Givethefull description of'Deepchandi' Taal with Ekgun, Dugun

and Chougun Layakaries.
e AU’ & N T, @ﬂ_ﬁmjﬁﬁﬁ@mﬂ%_

Unit-1II (s5E-11)
5. Write the essays on the following musical terms:
Frfafan Tt Al w ey i)
@ Khayal (ii) Thumri
= Al

D

923 [Tumover

10.

(2)
What do you know about 'Avirbhav and Tirobhav? Write in detail.
e o Rl & 9 § o e E, Reargds R

Describe the placement of swaras on Shruti according to Pandit

"~ Ahobal.

aosﬁmwmﬁnﬁhgﬁﬁﬁ%ﬁﬁf
Unit-I1I (-111)

Describe the role of Science in promoting cultural aspects of

Music during modern period.

%ﬂﬁum%ﬁ@mﬁﬂﬂﬂ&ﬁ?ﬁﬂm@ﬂq%ﬁ
e 87

Write mw.o.mé on Relationship of Science and Music.

s T @ia & el W Feeg iR

Write the contribution towards Hindustani Classical music by
Ustad Bade Gulam Ali Khan.

S 92 T @ @ & @i B R AEE & aei difm

923
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933

Printed Pages : 3

o

iime allowed : 3 hours)

GSM / D-17
ADVANCED CALCULUS
Paper-BM-231

{Maximum marks ;40

Note : Ancmpt five questions in all, selectine at feast one
3 ] !

question frop each nnit. Question No. 1 is compulsory.

1. {a})

{b)

)

(d)

(b)

933

(Compulsory Question)

Lim

x=ra" log (e*~e")

log (x—a)

(8]

Evaluate:

PAC R

It z=e""" prove that

=2 ~2

« 2z (Z

XY

1o

Cyex

Examine for Extreme value

Flxv)=x +y +6x+12 2

Find the equation of normal to the surtace xvz =4 at the

point ([, 2. 2) 2
Unit-1

Examine the applicability of Rolle’s theorem for the

function

o

fix)=(x" ~dx+3)e™ in[1,3] 4

Establish the following inequality using Lagrange’s Mean
Value theorem -

5 ~

' ) e . .
— Ktlmom.w _lT/. L T on i.m¢ Q
2 ¢ vfum,:é A / *

[PTO,



i

¥

(2) (3)

lim (tanx )\ {(b)  Show that the function

{(a)  Evaluate: 4 xv? :
x=>01 . AN (x,¥)=(0,0)
N : - Pl d X7+ yo
{(b)  Show that the function f defined by f(xy) y
. o : (X%, ¥)=(0,0
f(x}=2x" ~3x + 5 isuniformly continuous on [-2,2]. . . : 0 A ¥)=(0.0)
1s not differentiable at origin 4
MM
. 7. (a) Find the values ofx, v. z for which
Unit-I1 -
- Sxyx . . .
Xy (x.v) % (0, 0} 2 Is maximum given that xyz= 8 4
. T 0 WyE(0.0) X+2y+4z
(@) Letf(x.y)=4 JxX +y 4 ) ) .
(x.3)=(0,0) {b) A rectangular box without top is to have volume 32 cubic
X, y)={0, . : . . .. .
0 ’ 7. teet. Find the dimensions of the box requiring least material
Show that f(x, y) is continuous at (0, 0). for its construction. 4
3 + )= ,\U ~ 7 . v
by Ifz(x+y)=x+ y-, show that Unit—IV
MWIMW - TMWIMIN. 4 8. {(a) Express the curve T =e™ cost | +e™ sintj+e'k,
oy Xy ~ % <t <% Inthe normal form. 4
X+y {b)  Find the equation of osculating plane at any point t on the
(a) Ifu=cos™ , show that e e
Vx+4fy curve r =ti+t j+t k. 4
o cu 9. (a) Foraspherical curve, prove that
xﬂi+wﬂl+ﬂ cotu=0 4 &
X ¢y 2 )
. . - (T
(b)  Expand e* cos y in terms of x and y as far as terms of W .
third decree 4 where v is such that dy = 1ds. 4
{(b)  Find the involute of a circular helix
Unit-II1

R wnmnogrmm:;w;cm‘ 4
(@ Iff: R°— R beafunctionsuchthat both f.andf are

differentiable at a point(a, b) of the domain, then prove
that £ (a, b)=1f_(a.b) 4



(4)

9.  Solve:
15 SEG
satisfying the boundary conditions :
u(0, y)=u (=, y)=0 forall values of y.
u(xx)=0 0<x<n
and u(x, O)=kx O<x<n
934
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GSM / D-17
PARTIAL DIFFERENTIAL EQUATION
Paper-BM-232

Time allowed : 3 hours) [Maximum marks : 40

Note :  Attempt five questions in all selecting at least one
question from each unit. Question No. 1 is compulsory.

All questions carry equal marks.

1.  (a) Findthedifferential equations of the set of all right circular

cones whose axes coincide with Z axis. 2
(b) Solve (D°-DD'~2D)Z=0 I
(c) Wntetwo dimensional wave and Laplace equation. 1
(d) Classify the following differential equation :
Tz 2y 2
eXToyT

(¢)  Find whether the following partial differential equation is

hyperbolic, parabolic or elliptic in nature
&z L0z
+X°

-~ -~
RAY

X" Cy

=0 x#0

o

~

Unit—1

2. (a) Form the partial differential equation by eliminating
arbitrary function from

e
= (%) :

934 [PTO.




(b)
3. (a)
)
4. (a)
(b
5. (a)
(b)
6. (a)
934

(2)
Solve: yzp+zxq=xy

Solve: (p” + qa’) y = qz using Charpit’s Method.
Find the complete integral of
PaXs mp +qu+ X, +x.=0

by using Jacobi‘s method.

Unit-11
Solve

(D°-DD'-2D"} z={2x" +xv =%7} sin xy — ¢os xv.

Solve:

(D°-DD’'-2D) z=sin (3x +4y)

Solve :
Lz L
XTI oY T ERY
X" (v°
Solve :
(3D°-2D"" +D-1)z=4e"" cos (x+y)
Unit-11

Classify and reduce the equation to canonical form

-2 -

2 (2
TTeX o =0
X Cy

o~
~

[

(b)
7.  (a)
(b)
8. (9
(&)

934

(3)
Reduce the equation :
XT=2Xys+y t—xp+3yq - .MW =0
to the canonical form and hence solveit. 4

Prove that the Green's function for the equation

z 2 (Z (z
P ot |=0
XYy X+y \CX Oy

subject to conditions

“

cz .
z=0, —=3X" on y=x1isgivenby
X

. ) 2 HE ) (x-y )+ 28n)
wixyv.an= N 4
(E-n)
Solve: r=a"t 4
Unit-1V

Determine the characteristics of the equation

~Cu L Tu L S
€ —r+ie e = 4

X Xy y-

Solve
Fuo L o
T =¢ TT

ot e

satisfying the conditions: u (0, t)=u{a.t)=0 ¥t



(¢)

(d)

©

935

(4)

N

P and Q are two like parallel forces. A couple of moment
G is combined with them. Show that their resultant is

G

displaced through a distance P-0O Q-

Three forces P, Q and R act on a particle and keep it in

equilibrium. If the angle between the forces P and Q and

Q and R each be 120°. Prove that P=Q =R. 2
NE]

The resolved part of force F in a direction is - E.

Find its inclination with the force. Also find the other

resolved part. 2

Roll No. ..

Printed Pages : 4

Time allowed : 3 hours]

Note :

(b)

935

GSM/D-17
MATIHEMATICS
Paper—-BM-233
Statics

[Maximum marks . 40

Attempt five question in all selecting one question from

each unit. Q. No. 9 is compulsory.

Unit-I
A transversal with the lines of action of three concurrent

forces P, Q,RinL, M, N respectively. If R is the resultant

P Q R .
of P and Q. Show that + = where O 1s
OL OM ON
the point of concurrcnce of the forces. 4

Three forces P, 2P and 3P act along the sides AB,
BC and CA of a given equilateral triangie ABC.
Find the magnitude and direction of their resultant.
Also find the point D in which the line of action
meets the side BC. 4

Prove that two-coplanar couples of equal and opposite

moments, balance each other. 4

[P.T.O.



(2)

(b)  PandQare two like paralle] forces. If P be moved parallel
to itself through a distance x. show that their resultant

xP

moves through a distance ———— .
P+Q

Unit-I1

3. Twoequal beams AB and AC are hinged at A and are w_woma n
a vertical plane with their extremities B and C resting on a
horizontal plane, the are kept from falling by strings attached at
B and C joining the mid-points of opposite beam. Show that

/’\ 2
the tension of either string is aml V1+cot” 6. Where 6 is the

inclination of each beam with horizontal and W is the weight
of each beam. Also find the action of the hinge on either

beam. 7

4. Find the position of the C.G. of the cycloid x = a (B+sin 0),
y =a(I-cos 6) which lies in the positive quadrant. 7

Unit-II1

5. AtorceFactsalong the axis of x and a force nF along a st. line;
intersecting the axis of'y at a distance ¢ from the origin and
parallel to the plane of zx. Show that as this straight line turns
around the axis of'y, the central axis of the forces generates the

surface

[n’x2+ (n°-1) 22|(c - y) = y2x>. 7

935

A solid hemisphere is supported by a string fixed to a point on
its rim and to a point on a smooth vertical wall with which the
curved surface is in contact. If0 and ¢ are the inclinations of the

string and the plane base of the hemisphere to the vertical. Show

3
that tan¢ = 3 +tan®. 7

Unit-IV

(@)  IfPand Q be two non-intersecting forces whose directions
are perpendicular. Show that the ratio of distance of the

central axis from their lines of action are Q*to P2. 4

(b)  Find the null point of the plane /x+my-+nz = 1 for the
system of the forces <x,y,z; L, M, N> . 4

A heavy uniform rod rests with one end against a smooth vertical
wall and with a point in its length resting on smooth peg. Find

the position of equilibrium and show that it is unstable. 8
Unit-V
(Compulsory Question)
(@)  Find the centre of gravity of a uniform triangular
lamina. , 2
(b)  To find the least force to drug a heavy body on a rough

horizontal plane. 2

935

[P.T.O.
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GSM/D-17
PHYSICS
Paper-PH-301-V
Computer Programming and Thermodynamics

Time allowed : 3 hours] [Maximum marks : 40

Note :  Attempl five questions in all, selecting at least one from
each unit Question No. 1 is compulsory. Use of
Scientific (non-programmable) calculator- is allowed
Log tables may be asked for

Compulsory Question

1. (a) Convert the decimal number 116. 5625 to binary number.
2

(b)  Whatare valid characters used in Fortran also discuss
program organization. 2
(¢)  State and prove principle of degradation of energy. 2
(d)  Using first Latent heat equation, explain that boiling point
of water at Shimla (H.P.) is less than Kurukshetra. 2

Unit-1

2. (a) Stateand explainsub-routine and function subprograms.
4

(b)  Explain the use of GOTO statement with the help ofan
example. 4

3. Explaindifferent components of the computer using the block
, diagram. 8

[940] [P.TO.



(2)

Unit-I1

Develop an algorithm, draw flow chart and write a program to

solve quadratic equation. 8

Write an algorithm and program to find

(2)

(b)

(a)

(b)

(a)

(b)

(a)

940

Maximum, minimum and range of given set of numbers.

4

Average and Standard Deviation. 4
Unit-111

State Joule-Thomson Effect. Explain Porous plug
Experiment. , 4
What is TS diagram ? Derive the expression for the

efficiency of Carnot’s engine from it. 4

Define entropy. Derive expressions of entropy of a perfect

gas in terms of pressure, volume and temperature. 6

A Carnot engine has an efficiency of 50%, when its sink
temperature is 27°C. What must be the change in its

source temperature, so that efficiency becomes 60%. 2

Unit-IV
Derive Clausius heat equation

dL L
= 5

CoCE=aTT

(b)

(3)

Calculate the Latent heat of ice, given that change of
pressure of 1 atmosphere changes the melting point of
ice by 0.008°C and when one gram of ice melts, the

change in volume is 0.0907 cc. 3

9.  Define the four thermodynamical functions and hence derive

Maxwell’s thermodynamical relations. 8

940
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Printed Pages: 3
GSM/D-17
PHYSICS
Paper—V1
Waves and Optics—I
Time allowed : 3 hours| [Maximum marks . 40
Note :  Atiempli five questions in all, selecting one question from
each unit. Question No. 1 is a.e:%:,\ueg All questions
carry equal marks.
Compulsory Question
1. (a) Canasustained interference pattern be obtained with
two electric lamps placed close to each other ? 2
(b)  InMichelson’s interferometer 180 fringes cross the field
of view when the moveable mirror is moved through
0.0589 mm. Calculate the wavelength of light used. 2
(¢)  Why the contrast of fringes formed in transmitted system
in Newton’s rings is poor ? . 12
(d)  Define Fresnel’s half period zones. 1
(e)  Whatis the condition of absent spectraina grating ? 172
Unit-I
2. (a)  Prove that in case of interference, dark and bright bands
are of equal width. 3
(b)  Discuss the formation of fringes by Lloyd’s mirror and

[941]

..................... 941

explain why the central fringe is black ? Find the
expression for fringe width. 5

|P.1.0.



'

:Jl

(a)

(b)

(a)

941

(2)
Deseribe the biprisim method of producing the interference
fringes. How can 1t be used 1o find the thickness of thin
transparent sheet 7 3

Explain Stoke’s treatment of reflection. 3
Unit-II

How interterence take place in thin films ? Show that

transmitted and reflected patterns are complementary. 3

How can Michelson’s interferometer be used for the

(2

standardization ol ameler ?
Derive an expression for the diameter of bright rings in
Newton's ring experiment. 3

Explain the interference by wedge shaped film and find

L

the expression of fringe width.
Unit-111

What is Zone plate ? Explain that zone plate has multiple

n

foci.
Calculate the radii of three transparent zones of a zone

C
plate which focus a parallel beam of wavelength S0000A

J
)

at a distance of 2 em.

Discuss the formation of Fresnel’s diffraction patterns
produced by a circular aperture analytically. 6

What is the nature of diffraction pattern due to straight

edge ? 2

8. (a)
(b)
9. {(a)
(M

941

Unit-1V
Discuss the Fraunhoter diffraction at double slit. Find the
positions of maxima and minima in the diffraction
patteri. 6
Derive an expression for the dispersive power of grating.

2

&~

Explain Rayleigh’s criterion of resolution. Derive an

expression of resolving power of a telescope. 5

A plane grating has 13000 lines per inch. Find the

angle of separation of 3048 A\ lines of helium in sceond

w2

order.
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CHEMISTRY
Paper—VIII-CH-201
Inorganic Chemistry

Time allowed : 3 hours] [Maximum marks : 32

Note :- Attempt five questions in all, selecting at least two
questions from each section. Question No. 1 is
compulsory.

1. (1) Whatisachelate? Give example.
() Name a transition metal which is liquid at room temperature.

(i) Name the 3d series element which is not included in category
of transition elements.

(iv) Whatis Ziegler Natta Catalyst?

(v) Give an example of protic solvent and of amphiprotic

solvent.
(vi) Write a complex ion of Fe (II).

(vi)) Ruisoneofthe metals.

(viii) AgC£ issolubleinliquid __ butinsoluble inwater. 1x8

Section—A

2. () Why are transition metals less reactive than s-block

elements? 2
() Describe the structure of Ni (CO),. 4
942 [Tumover




3. ()
(1)
(i)

4. @)

(i)
(iif)

(i)

(1)

942

(2)
Describe the irregular electronic configurations of Cr and
Cu. 2
Explain the structure of FeCZ,. 3
Give maximum oxidation state exhibited by Os. 1

Describe the main differences between the 2™ and 3" row
transition elements. 3

Which of the following is more paramagnetic and why? 2

Which will have higher value of electronegativity? Explain.

Fe (II) or Fe (III) 1
Explain the trends of variation of atomic radius in I* transition
series. 2
How will you account for the following: 2

LE. of Hg is higher than that of Cd.

Explain that Cr*? is strongly reducing while Mn (III) is
strongly oxidising. 2

Section-B
Write [UPAC names of the following: 3
(@ H,Cr,0,

(b) [Cu(NH,),]SO,.

\om/
Epoyma oENormo
© ~on P 4

(®)

(i)

7. @

(i)

(iid)

(i)
(iif)

(1)

942

(3)

Square Planar complexes do not exhibit optical isomerism.

Explain. . 1'%

Discuss structure of [Cr(NH,),]** according to valence
Bond Theory.

Discuss the structure of ethylene diamine tetra-acetate ligand
showing its doncr sites. Draw the structure of
-1

[Co(EDTA)] also. 2

on
What is Effective Atomic number and EAN rule. Give one
example. 2

Explain the geometry and magnetic behaviour of
[MnC/,]2 with the help of VBT. 2

Define the term non-aqueous solvent with two examples.172
Why SO, is a better solvent for organic compounds? 172

In aqueous solution, Na liberates H, gas but is stable in
NH, solution. Discuss giving equations. 3

Explain with examples that non-polar compounds are usually
soluble in strong polar solvents. 2

Discuss.
(a) Acid-base reactions inliquid NH, with example. 2

(b) Precipitation reactions in liquid mON. Give example
also. 2
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(a)
(b)

(©)

(d

(e)

GSM / D-17
CHEMISTRY
Paper-1X (CH-202)
Physical Chemistry

[Maximum marks : 32

Attempt five questions in all, selecting at least two
questions from each section. Question No. 1 is
compulsory. Use of Log-table and Non-Programming

calculator is allowed.
Compulsory Question

What do you understand by inversion terperature ? 1

State the variable which are kept constant in the following

processes :

()  Isothermal process

(@) Isobaric process

(i) Isochoric process 2

What is the change in internal energy when an ideal gas

expands isothermally and reversibly ? 1

Define the term ‘Chemical Potential’. Write an expression
forit. 2

Why 100% extraction is not possible howsoever large
number of instalments of the extracting solvent may be
used ? 2

PTO.




(a)

(b)

()

(a)

(b)

(©)
(a)

(b)

(a)

(b)

(©

944

(2)
Section—-A

Derive an expression for the work done in a reversible
and isothermal expansion of ideal gas. 3

Show that for one mole of ideal gas,
Cp-Cv=R
Where the symbols have their usual meanings. 2

Under what condition an extensive property may become
intensive property ? Give an example. 1

Show that for reversible and adiabatic expansion of an
idealgas,  pv¥= constant, 3

Show that work done by the system is maximum if the
process is carried out under reversible conditions. . 2

What is the physical significance of enthalpy ? 1

Define Joule-Thomson Coefficient. Prove
thermodynamically that Joule-Thomson Coefficient for
anideal gas is zero. 3

If pressure, volume and temperature of one mole of a
gas are related as (P+ AWV/\H RT, show that (i) Pis a
state function (ii) dP is exact differential. 3
State first law of thermodynamics. Derive its mathematical

formulation. 21h

Calculate the maximum work done by the system during
reversible and isothermal expansion of one mole of an
ideal gas from 2.24 litres to 22 4 litres at 273K. 2
What is the main difference between an Open, Closed
and isolated systems ? 12

(b)

(©)

)

8. (3
(b)

(b)

(3)
Section-B

Define Law of Chemical Equilibrium. How can it be
derived thermodynamically ? 3
Define Distribution Law. What are the conditions under
which the law is applicable ? 2
Can we find the distribution coefficient of iodine between
water and ethyl alcokiol ? Why or why not 2 1

Derive Clausius-Clapeyron equation in the integrated
form for liquid-vapour equilibrium, 4
Derive Nernst Distribution Law using the concept of
chemical potential. _ v 2

Derive Vant’t Hoff equation in the integrated form. 3
1000CC of an aqueous solution containing 30 g of
an organic acid is extracted with 300 cc of ether using
100 cc in each operation. Calculate the amount of organic
acid left in aqueous solution. The distribution coefficient
of organic acid between ether and water is 3. 3

Describe the use of distribution law in determining
the equilibrium constant of the following chemical

equilibrium : 4
KI + HN /lw EW.

The value of equilibrium constant Wu for the reaction
N,O,— 2NO,

at25°C1is 0.14. Calculate standard free energy change

for the reaction. 2
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GSM / D-17
CHEMISTRY
Paper-X-CH-203
Organic Chemistry

Time allowed : 3 hours] [Maximum marks : 32

Note : Attempt five questions in all, selecting at least two from

1. (a)

(b)

(©
(d

2. (a
(b)

(©)

each section. Question No. 1 is compulsory.

Compulsory Question

Which geometrical isomer of stilbene absorbs at higher wave
length and why ? 2
Why phenol is acidic in nature ? 2
What is trans-esterification ? Explain with example. 2
What happens when :
() Ethylene glycol is distilled with conc. H,SO,. 1
(i) Ethylene oxide is treated with Phenylmagnesium

bromide followed by hydrolysis. 1

Section—-A

Explain dehydration of z-butanol with mechanism ? 2
Explain with mechanism preparation of ethanol from ethanol
using LiAIH,? 2
What happens when ethyl alcohol reacts with 2

() Thionylchloride
() Ethylmagnesium bromide ?

946

[Turmnover




(b)

(©

(b)

S. (a)

(b)

(©)

6. (a)

946

(2)

Discuss the mechanism of Claisen rearrangement ? 2

Discuss the epoxidation of ethene using OSO, with
mechanism ? 2

Compare the acidic character of 1°, 2° and 3° alcohols

giving reasons ? 2
Discuss with mechanism oxidative Qom.:\mmm of ethylene
glycolusing HIO,. 2
Complete the following :

()  Phenol +dil. HNO, — ?
(@ Phenol +aq. Br,—?

443K
(i) Ethanol + conc. H,80, ——>?
CH,
_ o
(iv) CH, - O/I\OIN +CH,OH ———?
0)

Give the mechanism of base catalysed ring opening of
epoxide ? 2

Which one is more acidic and why ?

()  p-nitrophenol or (ii) m-nitrophenol 2

Explain Kolbe’s Reaction with mechanism ? 2
Section-B

Outline following reactions : 3

(i Rosenmund Reaction
(i) Hofmann Bromamide Reaction
(i) Hell-Volhard Zelinsky Reaction

(b)

(®)
(©

(b)
©

9. (a

(b)

(©)

946

(3)

Arrange acid halides, ester anhydride and amides in
increasing order of stability and give reasons ? 3

How acetic acid can be prepared using :

(i) Carbondioxide

(i) Ethanitrile ? 2
Why acid amides are weakly basic in nature ? 2
Acetone absorbs at 279 nm in n-hexane whereas in water
it absorbs at 264.5nm. Explain. 2
Explain various types of electronic transitions in UV region
and arrange them in order of increasing energy. 3

Explain with example effect of conjugationonA__ . 2
Define Bathochromic shift. 1

Calculate A___for following compound :

o

Name the type of electronic transition in following
compounds : 2

() Acetophenone

() 1,3 butadiene

Bring out following conversions :

(1) Acetic acid into ethane

() Acetic acid into acetic anhydride. 2
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GSM /D-17
BOTANY
Paper-II
Plant Anatomy

[Maximum marks : 40

Note : Attempt five questions in all, selecting at least two

1.

questions from each unit. Question No. 1 is compulsory.

Support your answer with relevant diagrams wherever
necessary. All questions carry equal marks.

Compulsory Question
Answer briefly :
(@) Whatare annual plants ? Give an example.
(b) What is a meristematic tissue ?

(¢) Whatdo you understand by conjoint, collateral and closed
vascular bundle ?

(d) Whatisacompanion cell ?
(e) Define Phyllotaxy.
(f) What are casparian strips ?

(g) Whatare pneumatophores ? 8x1=8

Unit1
Write short notes on :
(a) Collenchyma and its functions
(b) Sievetubes

(¢) Tracheids 3+3+2

951 [Tum over

(2)
Write short notes on :
(@) Annual Growth Rings
(b) Tunica corpus theory

(¢) Cambium and its function 2+3+3

Write short notes on :

(@) Periderm

(b) Anatomy ofadicot stem 4+4

With suitable diagrams explain the abnormal secondary growth

in Dracaena. 8
Unit-II

Write short notes on :
(a) Multiseriate epidermis
(b) Phyllotaxy

(c) Cellinclusionsinleaves. 3+342

Briefly explain the stomatal apparatus and their morphological

types. 8
Write short notes on :

(a) Secondary growth in dicot root.
(b) Structural modification in epiphytic roots. 4+4

Write short notes on :
(@) Anatomy of dicot root
(b) Leafabscission. 4+4

9351
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ZOOLOGY
Paper-1

Life and Diversity of Chordates-I

[Maximum marks : 40

Time allowed : 3 hours]

Note :  Attempt five questions in all, selecting two questions
each from Section-A and B. Question No. 1 is

compulsory. Support your answer with neat and well-

labelled diagram(s) wherever required.

1.  Answer the following in about 20 words each :

(a8 Retrogressive metamorphosis
(b) Dorsal tubercle

(¢) Vanadocytes

(d) Velum

(¢) Anadromous migration

®  Solenocytes |

(2) Buccal funnel

(h) Intestinal bulb

(i)  Physostomus

()  Pineal m_.v\m

Section-A

2.  Describe the blood vascular system of Herdmania.

952

10x1=10

7.5

PT.O.

(2)
3. Write short note on the mo,:o«&:m“
(a) Hatschecks' nephridium
(b) - Primary gill bars
(¢) Endostyle of Herdmania 3x2.5=7.5
4. (a) Enlistthe general characters of <on8@§8 3.5
(b) Enumerate various Eooaam of chordate origin. 4
5. ﬁ%o.mwon note on the following :
(@) Testof Herdmania 4
() Endostyle of Amphioxus 3.5
Section-B
6.  Describe external features of Petromyzon. 7.5
7.  Describe the digestive system of Labeo. 7.5
8.  Write briefnotes of the following :
(a) Fishmigration 4
(b) Affinities of Cyclostomes 3.5
9. (a) Giveabriefaccountofthe metamorphosis of ammocoetes
larva. 3.5
(b)  Describe lateral line system of Labeo 4
952
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Z0O0OLOGY
Paper-II _
Mammalian Physiology-I
Time allowed : 3 hours] [Maximum marks : 40
Note :

Attempt  five questions in all, selecting at least two
questions from each Section. Question No. 1 is

compulsory. Draw well labelled diagrams wherever
necessary.

1. Explainthefollowing:

@
®
©
@
©
®
®
()
®
0)

2. (a)
(b)

1953 |

Oligosaccharide

Enzyme

Osteoarthritis
Assimilation

Single muscle twitch
Diffusion

Marasmus

Smooth muscle
Pellagra -
Endocytosis 1x10=10

~ Section-A

Give an account of secondary structure of protein. 4

Discuss functions of carbohydrates. 3%

P.T.O.

(a)
(b)
(@)
(b)
(@
(b)

()
(a)

®

(@)

®)

(@
®)

953

(2)
Describe nomenclature of enzymes. 5
Write a note on buffers. 2%
Discuss structure and role of fatty acids. 5
Explain Heterosaccharides. 2Ys
Give a detailed account of induced fit theory. 4%
Explain pinocytosis . 3
Section-B

Discuss digestion carbohydrates in human beings. 3

- Explain role of vitamins. 2%
Describe various types of nutrition and feeding in
mammals. 42
Discuss absorption of proteins. _ 3
Describe mechanism of muscle contraction. 5
Give an account of oxygen debt. 27
Explain in detail structure of bone. 5
Discuss osteoporosis. | 2%
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ELECTRONICS
Paper-I

OPAMP And Linear Integrated Circuits-I
Time allowed : 3 hours]

[Maximum marks : 40

Note : Attempt five questions in all, selecting at least one

H.

question from each unit. Question No. 1 is compulsory.
Compulsory Question

(@) What are the advantages and disadvantages of integrated
circuit over conventional circuits ?

(b) Whatisburied layerinanl.C. ? Why isitused ?

- (¢) Whatis virtual ground in an OPAMP ?

(d) What s the effect of —ve feed back in non-Inverting amplifier

on the input resistance of OPAMP. 2x4
Unit-1
Discuss in detail the various steps involved in fabricating a
monolithic Integrated Circuits. 8
Write note on the following processes used in I.C. fabrication.
() Epitaxy
@) Photolithography 4x2
. Unit-1I

Discuss the fabrication of the following in an Integrated circuit :
@) Resistor
(i) Capacitors
@i JFET. 2+3+3

956 [Tumover

(2)

(a) Howl.C. diodes are fabricated ? Sketch the cross-section
of two types of emitter base diodes. 4

(b) Describe a supergain transistor. 4
Unit-I11

Draw and explain the circuit of an emitter coupled differential
amplifier and derive an expression for the differential voltage gain.
8

(@) Explain the operation ofan OPAMP as difference va:mmn
, 4
(b) Designasumming amplifier using OPAMP for an output

A
_Hw: + WM + M.H_ where A, B and C are the

input voltages if the feed back resistor is 30 KQ. 4
UnitIV

(a) Explain the input offset voltage in an OPAMP. Find the
expression for the output offset voltage due to input offset
voltage in an OPAMP used in Inverting and Non-Inverting
configuration. 5

(b) Explain the operation of OPAMP as Integrator. 3

Discuss the advantages of Active filters. Explain the operation of
a first order High pass filter using OPAMP and calculate the
expression for the cut off frequency. 8

956




prnidPoges:3 957
GSM / D-17
ELECTRONICS
Paper-I1

Digital Electronics-I
Time allowed : 3 hours] [Maximum marks : 40

Note : Attempt five questions in all, selecting one from each
unit. Question No. 1 is compulsory.

Compulsory Question
1. (a) Define half subtractor and full subtractor. 12
(b) Describe the applications of demultiplexer. 12
(c) Differentiate between synchronous and asynchronous
. counter. |§7)
(d) Explain the difference between RS latch and RS flip-flop.
1%
(e) Realize a full adder using two halfadders. 2
Unit-I
2. (a) Designa full adder using NOR gates only. 4
(b) Discuss the design of 4-bit parallel binary adder. 4

3. (a) Drawandexplain abinary halfadder. Find out its sum and
carry bit outputs. Show how it can be designed using five
NAND gates only. 4

(b) Draw and explain a four bit BCD adder. ‘. 4
Unit-11 |

4. (a) WhatisMultiplexer ? Design full subtractor circuit two 8:1
MUX. 4

957 ~ [Tumover

(b)

(b)

(b)

®

(b)

(b)

957

(2)

What is a decoder ? Explain how two 3-to-8 line decoder
be used to design 4-to-16 line decoder. 4

Explain to implement 16:1 MUX using two 8:1 MUX(s).
5

What is a demuitiplexer and how does it differ from a
decoder ? Can a decoder be used as a demultiplexer ? 3

Unit-111

Draw and explain the working of a positive edge triggered
J-K flip-flop. Also explain the race around problem. 4

Draw circuit diagram for asynchronous R-S flip-flop using

NAND gates and discuss its operation. 4
Describe the working of a R-S flip-flop. How it differs from
D flip-flop ? 4

Derive the expression for Q_,, in terms of Q_and J and
K inputs for a clocked J-K flip-flop with active LOW J and

K inputs. Q_and Q_,, have the usual meaning. 4
Unit-1V
Describe the working of a decade counter with the help of
logic diagram. 4
Design MOD-4 regular synchronous counter using
T-flip-flips. 4
Discuss the design principle of digital clock. 4
Design a circuit using a counter to generate the following
pulse train 110100 and repeats. _ 4



RolINO. .ooverreern. 058

Printed Pages : 2

Time allowed : 3 hours]

GSM / D-17
COMPUTER SCIENCE
Paper-I
Data Structure
[Maximum marks : B.Sc.= 40

Note :  Attempt any five questions. Select one from each unit.

Question No. 1 is compulsory. All questions carry equal

marks.
1. (a) Name two pattern matching &moamﬁ__m. 2)
(b) Differentiate Array s LIST. 2)
(c) Name two applications of stack. | 2
(d) Define full-binary-tree. . 1)
(e) Write formula for searching an element in Row-Major 2-D
Array. ¢))
Unit—1
2. Define Data Type and Data Structure. Write categories of Data
Structure. 8
3. (a) WhatisTime and Space Complexity ? Give example. (4)
(b) Write any 4 string operations. 4)
Unit1I
4. (a) WriteanAlgorithm to Insert K" element in A[N]. 4)
(b) Discuss Sparse Matrix and Parallel Array. “4)
958 _ [Turnover

(2)
(a) Write an Algorithm to Insert an element at ‘Start’ and at
‘END’in SLL. 4)
(b) Discuss Garbage Collection. 4
 Unit-II
Define LIFO, Discuss PUSH and POP Algorithm for stack.
, - (8)
(a) Differentiate stack and queue. Write an algorithm for deletion
in simple queue. 4
(b) Discuss concept of Polish notation as application of stack.
. “)
Unit-IV
Define tree, binary tree and discuss two algorithms for
traversing a tree. ®
(@) Define Graph and Types of Graph. 4

(b) Discuss any pattern matching algorithm. @
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GSM / D-17
COMPUTER SCIENCE
Paper-I11
Software Engineering
Time allowed : 3 hours] [Maximum marks : B. Sc. : 40
Note :  Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory. All questions

carry equal marks.

1. ()  Whatarethe quality attributes of software ?
() Whatisstamp coupling ? Discuss using an example.
Gii) Whatis gold plating risk ? ‘
(iv) 'What types of bugs are detected during integration
testing ?
(v)  What are the different uses of cyclomatic complexity ?
Unit-I
2. (a) Whatdo youunderstand by software metrics ? Write a

note on the role of metrics in software development.

(b) Whatis waterfall model of software development ? What
are its limitations ? Discuss.

3. (a) Whatissoftware crisis ? Discuss the factors responsible
for software crisis.

(b) What is the spiral model of software development ?
Discuss.

960 [PT.O.




(2)
Unit-11

(@ Draw a structured chart for the problem to find the
product of two matrices. Identify the modules satisfying

functional cohesiveness and data coupling.

(b) What are the different components of SRS ? Discuss.

(@) ~ Whatare the problems with stamp coupling ? Discuss
using a suitable example.
(b)  Whatis function point ? Discuss the use of function points
in analysis phase.
Unit-4ll
(@  Whatis democratic team structure ? What are its merits
and demerits ? For what type of projects, it is suitable ?

(b) What are the different approaches to software cost
estimation ? What is COCOMO ? Discuss.

(@ Whatis DFD ? What are the different symbols used in
it ? Draw a DFD for counting the frequency of different

characters in a string.

(b) What do you understand by software quality
assurance ? Why is it considered as an umbrella
active ?

Unit-TV

What is the difference between statement coverage, branch

coverage and path coverage criteria of testing ? What is

960

(3)

the relationship between these three ? Discuss any suitable
example.

Differentiate between following :

(@)  Adaptive and perfective maintenance

(b)  Verification and validation

(¢)  Unittesting and integration testing

960
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GSM / D-17
COMPUTERAPPLICATIONS
Paper-1
Web Designing Fundamentals
Time allowed : 3 hours] [Maximum marks : 40

Note : Answer five questions in all, selecting at least one question
from each unit. Question No. 1 is compulsory.

1. Compulsory Question:

@)
(b)
©
(d
(e)
@

2. (@
(b)
3. (a
(b)

4. (a)

962

What is an ISP ? Name any four ISP's.

What is Webcasting ?

Define Web Hosting.

Explain briefly various features of HTML
Distinguish between ordered list & unordered list.
Explain the <FRAMESET > tag.

— N B e e e

Unit-1

Give features of various Browsers available in market. 4

Write short note on Hyper text transfer protocol. 4

Explain different searching techniques. 4

Explain Search Engine & their tools. 4
Unit-1I

Explain various points while planning a website. 4

Explain various web design methodologies. 4

G,E,n over

(2)

S. (a) Explain the term Domain Names. Why register a
Domain ? 4
(b) Explain various steps to developing your website. 4
Unit11T
6. (a) Explain the basic structure of HTML document. 3
(b) Explain various kinds of Links of HTML 5
7. How canyou format a webpage ? Explain with example. 8
Unit-1V
8. (a) Write the steps to Inserting image or graphics on your
webpage. 4
(b) Explain with example various attributes used with table
tag. 4
9. (a) Explainthe following with example :
(i) Setting Frame Margin . 3
(i) Communication between Frames. 3
(b) Whatis the purpose of <FORM> tag ? 2
962
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Printed Pages : 2

GSM /D-17
COMPUTERAPPLICATIONS
Paper-11
Data Base Management System

964

Time allowed : 3 hours] [Maximum marks : 40

Note : (i) All questions carry same marks.
(i) Question No. 1 is compulsory.
(iii) Attempt one question from each unit.
1. Explainthe following :
(a) Users
(b) DBMS
(c) File

(e) Client Server

Unit-I

- 2. Whatare the component of DBMS ?

3. What are the advantages of DBMS ?

Unit-11

2x4=8

4. What are the different levels of Abstraction of data in

DBMS ?

5. Whatis data Independence ?

964 |

8
8

[Tumover

(2)

Unit-11I
6. Illustrate Physical data Model with example. 8
7. Explain ER-Diagram. 8

Unit-1V
8. Classify various types of Relationships and Constraints over
them. . 8
9. WhatisRDBMS ? 8

964
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GSM /D-17
BIOTECHNOLOGY
Paper-VI
Immunology
Time allowed : 3 hours] [Maximum marks : 40

Note : The candidates are required to attempt question no. 1

and four others, selecting one question from each unit .

Explain the following in brief: 8x1=8
(a) Macrophages

(b) Avidity of antibody

(c) Epitopes

(d) Humoral immiunity

(e) Autoimmunity

(f) Lymphokines

(g) Name B-cell surface markers

(h) Inactivated vaccines

Unit-I
(a) Discuss the features/characteristics of innate and adaptive
immune system. 4
(b) Discuss B-and T-lymphocytes in detail. 4

(a) Explain the functioning of secondary lymphoid organs in
immune system with the help of well-illustrated diagram. 4
(b) Explain the functions of different classes of antibody. 4

970 [Turnover

4. (a) Writeshortnotes onthe following : 2x2=4

() Factors affecting antigenicity.
(i) How antibodies are produced ?
(b) Differentiate between the following : 2x2=4
() Precipitation and agglutination reactions
(i) ELISA andRIA

Unit-11
Discuss in detail about the cell mediated immunity giving an
account of cells involved and write down its functions. 8
(a) Whatis hypersensitivity and what are its different types? 4
(b) Discuss recombinant vaccines in detail. 4
Write short notes on the following : 4x2=8

(a) Structure of class Il MHC molecules.
(b) Immunological tolerance

(¢) Flowchart of alternate pathway of complement system

(d) T-dependent and T-independent antigens

970
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GSM / D-17
BIOTECHNOLOGY
Paper-V11
Molecular Biology
Time allowed : 3 hours] [Maximum marks : 40

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt any two questions from each unit.
All questions carry equal marks.

1. State whether the following statements are True (T) or False (F):
(a) Denatured DNA shows hyperchromatic effect.
(b) Plasmids are replicated along with chromosomal DNA.
(c) Okazaki fragments are found on the lagging strand.
(d) Trpoperon isregulated by attenuation.
(e) Ribozyme is RNAmolecule having catalytic activity.
(f) Acridine is ininhibitor of translation.

(g) RNA polymerase binds at operator and repressor binds at
promoter site in DNA.

(h) All prokaryotic and eukaryotic proteins have f-methionine
on their N-terminal end. 1x8=8

Unit-1

2. (a) Describe the Harshey and chase experiment showing the
nucleic acid is a genetic material. 4

(b) Whyis DNA supercoiled ? Name the enzymes involved in
topological changing of DNA for its functioning ? 4

971 [Tumover

()

(b)

(b)

(b)

(b)

971

(2)

Explain the role of histones in DNA organization in
eukaryotes. 4

Discuss the transposable elements in maize genome. 4

Describe the process of replication initiation of prokaryotes.

4
How is DNA synthesized on a lagging strand ? Explain with
suitable example. 4

Unit-TI

Enlist general characteristics of genetic code. 4

How is mRNA modified after transcription ? What is the
importance of these modifications ? 4

Why only standard amino acids are participating in protein
synthesis ? How are these activated before translation ? 4
Explain the structural organization of ribosomes.

Mention the roles of different rRNAs in the process of
translation. 4

How is the expression of lac operon regulated when both
glucose and lactose are present in the growth medium ? 4

Give names and mode of action of two inhibitors of
transcription in prokaryotes. 4
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Time allowed : 3 hours| [Maximum marks : 40
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cTg 4x2=8
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7. What are the various physiological changes taking place

during old age ?

FgEe § wH-sAY fafe wife aferdw wh ? 2

8. Give requirements of foods and nutrients during pregnancy.
TRy § SRR YT WU TR WXl @i Fdnad

el & &R Y |

9. Write short notes on the following :
(i) Nutrition during lactation
(ii) Problems during pregnancy.
frfafes R dfiw feafrl fafe .
() weht Afgen @« fag dwo
(i) wERnr H ¥ awh sl |

L-1174 4 200

Roll No. .“ Total Pages : 04
GSM/D-17 1174
NUTRITION IN LIFE CYCLE
Course 201

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 is compulsory. All
questions carry equal marks. |
T WE ¥ TF W TN g, Fo Ui W @
S A | v wem 1 ofed ® 1wl e @
% WA T |

Compulsory Question
(otfaE wew)

1. Define any eight of the following :

(i) Meal Planning
(ii) Adolesc2nts

- (iii) mnmwmﬁ eding
(iv) Pregnar 5y
W) m_,:E&on :ntary Feeding
(vi) Nutrient:
(vii) Emo-o%&

(2-07/6) 1-1174 P.T.O.



(viii) Moderate work
(ix) Adultman
frefafes & @ el ee =+t wftf wifg -
() SR ST
(i) fereiRmEEen
(iii) A

(iv) TIeferERn

(v) T& SR
(vi) dvw T
(vii) SfteR =%
(vii)) Tem wHE
(ix) TT&F T |

Unit I

ECOER |

What are the various factors affecting meal planning ?

R TR F T W O e o sR-ee
g2

Differentiate bottle feeding a breast feeding with reference

to nutritional and bacterial qualities.

Wy aw wfed qon M) W BN ® weH H WAIE el

dad ¥ g9 Rem ¥ o Ry |

L-1174 2

Select any two of the following for writing short notes :
@) Packed lunch for school going children

(ii) Nutrition for infants

(iii) Supplementary feeding.

frefafen o o fesl ¢ & g daw | fafew -
() A TN T T ® foar TR F; YgE HGeE
(i) weaEE # 9o

(i) TF MWR |

What are the various problems which adolescents are
facing ? What points will you consider for them for diet
planning ? Give nutritional requirements also.
frviraee § FH-PAE gred o ¥ ? SRR STeH
B THg fra-fee ol &1 oW W 2 g 9w el
AFTIHAA ST FHHR A |

Unit IT

s 11

Give nutritional requirements for adult woman who may
be sedentary, moderate or heavy worker ?

T, TET T W A9 R IRl 99wR S @ e %
TR ¥ TRy | ‘

(2-07/7) L-1174 3 P.T.O.



9. WTite short notes on the following : 2x4
(a) Preparation of fabric for garment making
(b) Points to be kept in mind while cutting the fabric.
frafafer = dfaw fewfrar fafeg .
() UWTE TH 9 TR a9 & qan
(4) F92 H Fed TG A9 W 979 99 |
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Roll No. ..cocevviinvrercnirianen Total Pages : 04
GSM/D-17 1175
INTRODUCTION TO CLOTHING
CONSTRUCTION
Course 202

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least rwo
questions from each Unit. Q. No. 1 is compulsory. All

questions carry equal marks.

T THE | ®H 9 ®9 & W T4 U, Ho Ui
Yol % I G | yeH gew 1 e ® 1 gt
Y H 3k §EE © |

Compulsory Question

( 3rfrard uyT)

1. Write short notes on the following :
(a) Paper pattern
(b) Tracing wheel
(¢) Types of Scissors
(d) Selvedge.
frafafes w dfia fewfl fafey -
(1) W a1 TR e

(2-07/8) L-1175 P.T.O.



(3) e =
(7)) o= wor 5t St
(T) @ a1 == |

Unit 1

ECAER |

Explain the equipments used for clothing construction. 8
TR i F v feu WR 9 sewen @ o
fafey |

Write the parts of a sewing machine. 8

Hﬂ%%ﬂ?ﬂm&%%m?@m_

Write about the following defects of sewing machine.
Explain their causes and suggest their remedies : 8
(@) Upper thread Breaking

(b) Needle Breaking

(c) Missing stitch

(d) Loop formation.

frafafen foemd =i & <0 =1 578 wrof i gureee
gfeq aviq wifey .

(37) IW HT umm il

(® | w1 T

(") <= &1 g

() oM & T w79 |

L-1175 2

S.

Write in detail about the care and maintenance of sewing

machine. 8
g%ﬁ%%ﬁﬁ%%m@ﬁﬂﬁﬂ
fafeaw |

Unit 11

e 11

Explain the psychological and social importance of

clothing. 8
mﬁ«%ﬁ?ﬂmﬁiﬁwﬁﬁﬂ%%m@@m_

Write the general principles of clothing construction. 8

%ﬁjﬂs%ﬁmﬂswﬁ.%ﬂmﬂmﬁ
IS

Explain the tools required for drafting. Discuss its
advantages. 8
SR # T W A sR e SRl ® ar o
fafeT | gfen # wew =1 avir g |

2-07/9) L-1175 3 P.T.O.
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wittun Marks @ 40

Note IHE
aeesiion it Q. Ne 918 compulsory
TUw v § % FH 9 wH UR WS ET B, A
o u & T AT | wew e 9 stsed § )
{mitd
1. Define tamily, explain its meaning and functions. 8

yfEn s5 gfeam Gfsu qen gaw @ o st & o
T HEET |

2. What do vou understand by the word Marriage 7 Elahorate
g
@t ¥ 0 som FE AR

3. What ere the various factors for changing structure of
family to nuclear family 7 8
IfER & @ET H TEE

o geoM O FRF F
faga | Tz feaqo fafea

(2-07/10)L-1176 : P.T.0.



4. How have Liberalisation policies affected human .
development today 7 8
Ay g W, SR & AT 3 9ee fawm e e
T gefEg fem ® 7

Unit 1
s 1l

5. Write down the importance of various methods of Family
Planning and tie factors aifecting it. 8
gfar fEem @ fafa= oist @1 mew fafew 9 3T
Jaifae S oI e W 99y |

6. Discuss the Population Policy of India. 8
wid w1 SEE ifd o fawge 9wt fafen

7. Explain role of NGOs (Non-Governmental Organisations)
in influencing children mortality. 8
F=al F G-I H YT FH H -G g @
wwwﬁmwﬂ T TR 9§ Jagd |

8. Write an essay on ‘reproductive rights of women’ with
suitable examples. 8
g SRl gk fod ® oww e’ | o
,_)ﬂﬂn..m_. i c |

L-1176 2

Compulsory Question

( srfETE we) ‘

Answer the following in short : Ix8=8
(a) Stages of family

(b)  Working women

(c) Cure of Aged

(d) Family Planning

(e) Population Education

() Child Health Programmes

(g¢) Industrialisation |

(h) Population Statistics.

e =1 dam 4 sw fafeg -

(31) URER =+ areeemd

(/) FweEet Afsend

(9) g8 * @I

(%) uRer famsm

(3) <rEen foavas

(W) A& A FHHH

(m o
(8) H&e aifeas! |
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L

() DRI w1 @ W fafgw

(i) fFer w2 f& o 9129 1 g ¥ )

(iii) W& F&N F YR W IRER B & THE w9 |

(v) T = q vy Tad |

(vi 9 ° "fewmed o w=al ® fawm 8 fod g
FI IE A A o 2

(viy §ar ® = = @

(vil)) GA ¥ BT YR 9AET |

Unit 1

ECOE

What is Commurication Process ? What is importance of
Communicanon in daily life ? 8

TUR R FEW W € ? e Wiew ¥ weR #1 wee
FABT |

What do you mean by Family 7 Explain various types of
family. 8
HER' ® w oafowa § 7 wiER # s wen aand o

What is meaning of Society 7 Explain various types of
society. m

TS W P oafavm ® 2 werw @t wem e

L-1178 2

5.

@715 1,-1178

Write down the main elements of Social Structure. 8

W ® W Tl w ool SR |

Unit I
TEE I

Explain Poverty, Give effects of poverty in detail. 8

T w1 A wifed | W $ g waEd |

Explain DWACRA (Uevelopment of Women and Childrer
in Kural Areas). 8

Lt T S e O TR g S S,

What are programmes of Iudia for Poverty alleviation in
India ? 8
g # e s % fafes v v

Write down main objectives of Mid-Day Meal Programme.
8
TR @R INE ® I TR weEd |

b
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3. (a) Whatis Local Class ? What are the rules for using Unit IV
it 7 Give example: 8 o .
(b) How can we pass class objects as arguments of a 8. Explain the following operators by giving suitable
function ? llustrate using example. 8 examples :
_ (a) Bitwise Operator
Unit 11 (b) Size of
~ (¢) Comma Operator
4. Explain the following with example : (d) Conditional Operator. 16
(a) Parameterized constructor
(b) Destructor. 16 9. What are inline functions 7 What are its advantages and
disadvantages ? Give suitable example. 16
5. Explain the following function with example : 16
(a) Get( ) function
(b)y  Write( )
(¢) Precision( )
(d) Setf( ).
Unit II1
6. Explain the following with example : 16
(a) Delete Operator
(b) This Pointer.
7. (a) Explain all Manipulators with example.
(b)  What is Friend function ? What are its advantages
and disadvantages ? Also give example. 16
L-1239 2 (2-05/12)1.-1239 3 3,100
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BCA/D-17 1240
‘DATA STRUCTURE
BCA-232
Time : Three Hours] [Maximum Marks . 80

Note : Attempt Five questions in all, sel=cting one question

from each Unit in addition to compulsory Q. No. 1.

Compulsory Question

1. (a) What do you mean by Tree and level and degree of
a node ? Explain with examples.
(b)  Explain the concept of deque.
(¢) Explain the concept of Garbage Collection.
(d)  What is Time-Space Trade off ? 4x4=16

Unit I

2. (a) What is Data Structure ? Explain its various
operations and applications.
(b) Describe Big-O Notation. 16

3. (a) Explain first pattern- matching algorithm using an

example. 10

(2-31/0) 1.-1240 0.
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7. What

Differcny e Lenween the following -
(1) Pinear ond non-linear data structure

(i: Primiuve and non-primitive data structure. 6
Unit 11

Write an algorithm for inserting an element in an
array ar & perticular location K. 10
Explain circular ink iist with a suitable example.

6

What is an arrav ? bxplain the operations that are
perform on an array with example.
Write an algorithm for delete a node in linked list.

16
Unit I

What is Priority Queue 7 What are its applications ?

E

cplain the Multiple queue representation. 10
What is Stack ' Fxplain the concept of polish

notation. 6
mcu.‘,“_x:anmnwacocm,...vﬁ\%nm:mmmeagﬁo

<y

cnt in the array 16

4

Unit IV

8. What is Binary Tree ? Explain the representation of Binary

tree in Memory. - 16

9. (a)

(b)

Explain- the post order Traversal algorithm using
the concept of stack. 10
Explain the following :

(i) Directed Graph

(i) Weighted Graph. 6

(2-317) 1-1240 3 3,300
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BCA/D-17 1241
COMPUTER ARCHITECTURE
BCA-233
Time : Three Hours] {Maximum Marks : 80

Note : Attempt Five questions in all. selecting at least one
question from each Unit. Q. No. 1 is compulsory. All

questions carry equal marks.

1. (a) Discuss instruction cycle with its operations.
(b) Explain wire bus and memory data transfer.
(¢) Discuss the structure of instruction format.

(d) Explain polling.
Unit |

2. Explain various approaches of control unit design and

implementation.

3. Design and explain logic circuit for memory read and

write operation of a basic computer.

(2-05/10)1-1241 P.T.O.
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Unit II
Explain Register Transfer Larzaage (RTL) in detail.

What do you mean by micro operation ? Describe

arithmetic logic and shift micro operations.

Unit 11
Explain various CPU organizations.

Describe RISC and CISC architecture.

Unit IV

Explain the memory hierarchy in terms of their storage

and access.

Explain program based data transfer techniques.

L-1241 2 3,250
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xﬁb\w; 7 1242

Time : Three Hours? [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is cdmpulsory.
In addition 1o this atteinpt four more questions selecting

All questions carry equal

1. Answer the following qucstions in brief : 4x4
(i)  What are the aitributes of good software ?
(11)  What do vou
technical and operational feasibility

(1i1) Expiam Decision table with the wb% of an example.

mean by feasibility mEa% ? Explain

(iv) Explamn the Putnam Resource allocation model.
Unit §

2. {a) List the task regions in spiral model. What are the
advantages and limitations of this model ? 8
(b)  Explain different sottware crisis problems with their

causes. 8

(2-05/8) L-1242 P.T.O.



3. (a)

(b)

Discuss advantages and disadvantages of waterfall

model. 8
Explain the programming paradigms given
below : 4x2

(1)  Imperative paradigm
(i)  Functional paradigm
(iii) Logical paradigm

(iv) Object-oriented paradigm.

Unit JI

4. Define SRS. Explain-various components of SRS. Also

give general structure of the SRS, 16

5. (a

(b)

What is SCM
Management) ? Describé the process of SCM. 8

(Software  Configuration

Explain SQA (Software Quality Assurance) by giving
its various methods. 8

Unit 111

6. Explain the concept of Data Flow Diagram (DFD). Define

the following DFD terms by giving their symbols : 4x4

(@)
(b)
{©
(d)
L-1242

External entity
Data flow
Process

Data Store.

7. (a) Explain entity relationship diagram with the help of
an example. 8
(b) Discuss importance of maintenance by giving its
various types. 8
Unit IV
8. (a) Differentiate between black box and white box
testing. 8
(b) What do you mean by Project Monitoring ? Explain
various tools and techniques of monitoring. 8
9. Explain the following types of testing : 8x2
(a)  Unit testing |
(b) System testing
(¢) Alpha testing
(d) Beta testing
() Acceptance testing
(f) Mutation testing
(g) Regression testing
(h)  Stress testing.

(2-05/9) L-1242 3 3,200
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BCA/D-17 1243
FUNDAMENTALS OF DATABASE
BCA-235
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questiorns in all. selecting at least one

quesiion from each unit. Q. No. 1 is compulsory.

1. (a) Define Data, Information, Domain and Attribute.
) Define physical and logical data ?Q%mb&msno.

(¢) Discuss simple and complex mapping.

(d) Detine primary key and foreign key with examnle.

16
Unit I

2. Define Database and its components. Discuss its

comparison with traditional file systeni. 16

3. (a) Define DBMS, its working, merits and demerits.

(b Discuss role of DBA and its working. 16

(2-05/7) 1-1243 P.T.O.



Unit I1

4. Explain three levels of Database architecture. Also show

their interlinking mappings. 16

5. Write notes on the following :
(a) Centralized v/s Client Server Database.
(b) Classification of DBMS. 16

Unit 111

6. What is E-R diagram ? Discuss its symbols. Make an

E-R diagram for Teacher-Student Relationship. 16

7. Discuss Record based and Object based data models with

merits and demerits. 16

Unit IV
8. Explain relational model with its properties. 16

9. Write notes on the.following :
(a) Model Based on 1 : M association
(b) Relational and Integrity Constraints. 16

“1~1243 2 3,000
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BCA/D-17 1244
COMPUTER ORIENTED
NUMERICAL METHODS

RBCA-236 |

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 is compulsory.

1. (a) What is Newton Forward Interpolation Formula ?
(b)  What is approximation of function by Taylor Series ?
(¢) What is Chebyshev Poiynomials ?
(d) What is the use of Newton-Raphson method.
(¢)  Write the order of convergence for iterative method.
(fy  Write the order of convergence of False wo&mos

method.

(g) What is formula for Regula-Falsi method ?
(h) What is pitfalls in differentiation ?

Unit I

2. (a) Prove by example the associative and the distributive
laws of arithmetic may not valid in the normalized

floating point representation. 8

(b) Distinguish between absolute and relative errors. 8

(2-05/5) L-1244 P.T.O.
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3. Explain Bairstow'

378 rude. 16
ay

4. Given m.w.wuw.tu

- P . PR .
. . 9. Evalvate | _[2x7-3x" +1jdv by Gaussian quadrature
Find y for x = }

formula. 16

. dy :
5. Given =—=1=+y
dx

by Runge-Kutte

[N
=2

6. Write sho:rt notes on the following

(@) Interpciation

by Tavior Series.

(b)  Approximation o

7. Find f(x) by Newtorn's divided difference method from

16
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i
T
i

4

;
i
!
i
N S|

—
£

7

L-1244

L)

(2-63/6) L-1244 3 3,500



.

Total Pages : (3

RO ™0, cicenemvarivarsissonsans
BSIT/D-17 12132
TELECOMMUNICATION-I
RST-303

faximum Marks : 40

faced

i Mubile phone

L% 1

ﬂﬁ } Wy

are smaller cells p

hy

now Frome Relav s a virtoal circuit

2 »Nv\?“

their performances. 5

PO




3. tay What do you mean by physical layer standards 7. Wrile a note on 5
Also discuss various specifications of RS-232-C
T ;
standard. 4 . Unit IV
(b} Explain. how multiple analog voice signals are digi. )

; 8. (a) Discuss various flelds in Frame 4
b)  Explain various challenges in desic 4
Unit II ]
9. led rote on ATM 8

4. (ay Discuss how space-division and time-division
switching is combined using suitable diagram. Also

explain its advantages. 4

{b)  Calculete 1otal number of crosspoints and possible
number of simultaneous connections in a three-

stage space-division switch with N = 100 rmizm

12 crossbars at first and third stages and 6 crossbar
at middie stage. _ 4
3. (a) What was the prime objective of ISDN system ?
Tustify using suitable example. 4
(b} Discuss the various standards used for digital bit
pire 1n ISDN svstern. 4

Upit 11

6. (a;  Discuss security issues in cellular phone systems. 4
(b)  What do you mean by channels in AMPS 2 Discuss

\

432 tull duplex channel E

[-12132

i

(22600012137

igd




RulNO. v vial Pazes - 03

BSIT/O 12133
MICROPRCTESSOR ARCHITECTURE
AND i RAMMING-
BSII-304

Time @ Three Hours] [Maximum Marks : 40

Note : satempr / in all, selecting one question

from each Unit. Q. No. 1 is compulsory.

Compulsory Questien

-

What are software interrupts 7

{b) The positive clock edge occurs halfway through
each state. Why 7

(¢)  What do you mean by extended register

instruction

(d)  Explain SPHL and PCHL mstructions. 2x4=8
Unit
2. Discuss SAP-] Architecture in detail. 8

3. a)  Describe with example one byte. two byte and three

ey

byte instructions ot SAP-i COImputers.

(126774112133 F.T.O.



{v)

(b)

6. (a)
(b)

Write a detailed subroutine for SAP-II computer to
introduce time delay of 1 milli sec using only one
register. The clock frequency of the system is 1

Midz.

Unit I

Explain the arithmetic and logic instructions with

example. 6
Explain JNC instruction in SAP-IIL 2
Explain PUSH and POP Instructions. 4

Suppose that 1024 bytes of data are stored between

address 3000H. Write a program that copies these

bytes at address S000H. 4
Unit T

Explain Fetch-execute overlap. 4

Explain the following instructions : 4

LDAX mp, SHLD address, STAX rp. LHLD address.

7. Draw and discuss the architecture of 8085 microprocessor.

1-12133

8

8.

(a)

(b)

Urnit IV

Explain an interrupt process and the difference

between a maskable and non-maskable interrupt by

using an example. 4
Explain the following instructions : 4
(1 SM
(i)  RIM.

9. Explain the concept of DMA in detail with diagram. 8

(2-20/15)1.-12133 , 3 400
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BSIT/5-17 12134
OPERATING SYSTEM-I
BSTT-3¢2
Three Hours| ‘Maximum Marks : 40
Attemipt Five questions in ali, selecting one guestion
from each Unit. (). No. 1 is compulsory. All questions

carry equal marks.

Compulsory Question

1. Write short notes on the following :

(a) Spooling

(b) Turnaround Time and Waiting Time

) Hardware Solutions of Criticial Section

fd) Safe State. &

Unit Y

2. Explain the role of operating system as :

(a) Resource Manager 4

(b) Extended Machine. 4
3. (a) Explain the concept of System Calls and System

Programs. 4

(2-21/1) 1-12134 P.T.O.



. Oirferentiate Real Time and Time Sharing Operating

Unit IT

4. What do you mean du,\ the term Process 7 Exnlain Process

Jry

States and then iransiy

'8

A PPN SRS T EnJUE . it ™ - \ o~ 141 e 1.
Constder the forlowing set of processes. with ihe i

Ty

¢t i2PL Brust Time Jin milliseconds) :

,M Toarst Time | Priority
i o o 1
_ g w <

L 6

2 j 1 2

F E z m

T
Tas 1 S 2
i ; o) D

The processes are assumed to have

P1. P2, P3, P4, P53 ail at time Zero.

Draw four Gantt Charts illust

s—~
£

arrived 1n

ating the execution of

these processes wsing FCFS, SIF. Non-Preemp
Priority (A Smaller Priority number implies a higher
Priority) and RR {quantum = 1) Scheduling.

(b) What is the turn around time of each process for

each of the scheduling in Part A

1-12134
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BSM/D-17 16532
ENGLISH
[Literature in English (1750-1830)]
Paper-VI
Time : Three Hours] [Maximum Marks : 80

Note : Do as directed. Q. No. 1 is compulsory.

Compulsory Question

1. Attempt the following in about 200 words :

(a) Depiction of country-side in The Vicar of Wakefield.

OR
Moral purpose in The Vicar of Wakefield.

(b) Organic Unity of Emma.

OR
Character of Olivia.

(¢) Use of Paradox and Oxymoron in Lamb.

OR

Character-portrayal in Lamb’s essays. (3x8=24)

16532/400/KD/709 [P.T.O.



UNIT-I

Note : Attempt any two from the mo:oism.

2.

Comment on the treatment of Sentiment and Pathos in The
Vicar of Wakefield.

OR

Elaborate on the main ideas dealt with in The Vicar of
Wakefield. 16

Comment on the Plot construction of Emma.,
OR

“Emma deals with the life of upper-middle class of the
contemporary England.” Comment. 16

On the basis of your study of the prescribed essays, discuss
Charles Lamb as an essayist.

OR

Critically examine “Poor Relations” as an essay. 16

UNIT-II

Note : Attempt the following questions.

5. Describe in detail the reasons for the rise of the Novel in the
eighteenth century.
16532/400/KD/709 2

OR

Discuss in your own words the development of English Essay
from Bacon to Lamb. 12

Write a detailed note on the English Verse Satire in the
eighteenth century.

OR

Discuss the main features of the English Novel during 1750
and 1830. 12

16532/400/KD/709 3



Sub + Verb + to-infinitive.

)

(h) Here/There + Sub + Verb.
(i) Sub + Verb + (Prep) + (it) + that clause.

() Sub + Verb + Preposition + Object.

9. Rewrite the following sentences using introductory here
there/it (Any eight) : &

(a) No damage to the plane.

(b) Several people were in the room.

(c) A fierce storm in the sea.

(d) Several VIP rooms in this hotel.

(e) A page is missing from this book.

(f) No hope of his coming back.

(g) No cause of worry.

(h) Eleven plavers in the team of cricket,
(i) Easy to talk than sit idle.

(j) Tomorrow would be cold.

16533/400/KD/714 6

RoDN: Total Pages : 6
BSM/D-17 16533
ENGLISH
(Grammar and Contemporary English Usage)
Paper-VII
T:me : Three Hours] [Maximum Marks : 80

Note : Attempt all questions.

1.

Write an essay in about 450 words on any one of the
following topics :

(a) The Pleasures of Reading a Novel.
(b) Travel as a Part of Education.
(¢) No man is a judge of his own merits.

(d) Life in a Big C:ity. 14

Read the passage given below and answer the questions that
follow :

I left it alone for a few davs. not knowing what to do with it.
I received a notice from the municipality ordering that the
engine should at once be removed from the ground as
otherwise they would charge rent for the occupation of the
Gymkhana Grounds. After deep thoughts I consented to pay
the rent. and I paid ten rupees a month for the next three
months. Dear sirs. I was a poor man. Even the house which
I and my wife occupied cost me only four rupees a month.
And fancy my paving ten rupees a month for road-engine.
It cut into my slender budget and I had to pledge a jewel or
two belonging to my wife ! And every day my wife was

16533/400 KD 714 [P.T.O.



asking me what [ oroposed o 2o win this terrible property
of mine and [ had nc answer o zine2 [ went up and
down the town offermng i for sz 1o 2 and sundry. Some
one suggested hat the secreizy 17 ime (xzl Cosmopolitan

Clab might be :nteresiad in it Wrnen [ znrroached him he
laughed and asxed wrat ne shoulz 2o itz road-engine.
I'll dispose of it at & concession for »oo You azve a tennis
court to be rolled every moming.” [ bezan and even before
I saw him smile I knew it was a stup:d thing ic sav. Next,
someone suggested, ‘See the Municipal Chariman. He may
buy it for the municipality.” With great trepidation [ "aent to
the municipal office one day. I buttoned up my coat as |
entered the Chairman’s room and mentioned my business. I
was prepared to give away the engine at a great concession.

Questions :

o

(i)  What notice did the talkative man receive from the

Municipality ?
(iy  How much rent did he pay ?
(il What had he to do when the rent cut into his budget ?
(1v) What was his wife asking him every dav ?

(v) Whom did he try to sell the road-engine 7 (2x5=10)

Fill in the blanks with appropriate items given in brackets

(Any eight). 8

(@) The ....ooveennn. (scenery/sceneries) of Kashmir is
beautiful.

(b) No more .......... . (information/informations) is a

available on S_m m:EmQ.

16533/400/KD/714 2

(¢) This e (machine/machinery) is defective.

(d) We had our .............. -mealmealst,

(&) My thznx thanks) are due to him

£y ... Wro Whomt do vou want to talk ?

(gr Th:s :s one of the best books that ............... (has/have)

- He is weaker than .................. (me/I).

1 Let (I/me) ............... and Sohan do this work.

Fill in the blanks with appropriate form of the verb given in
brackets (Any eight) : 8

(a) Ice ...... e (melt) at 0° centigrade.
(b) ..ceveereeen. you (do) anything tonight ?
(¢) The movie .............. (be) released recently.
(d) I .nn. (play) cricket since Sunday.

(e) LastnightI ... (see) a horrible dream.
(f) He .............. (not read) his books after the examination.
(g) The rain ..o (stop) before I .............. (g0) out.
(h)y T wishlI ..... . (not try) it.

(i) I am sure you ............. (like) our new house.

G Iflamfree, I ..o (visit) you.

16533/400/KD/714 3 [P.T.O.



5. Fill in the blanks with appropriate prepositions (Any eight) : 7.

(a)
(b)
(c)
(d)
(e)
()
(8)
(h)
@)
@

8
He generally travels .............. air from Delhi to Mumbai.
Sohan got ............... ... the horse.
He poured milk ...... e the jug.
He was going .....c.ccccecuinns Bhiwani at 8 a.m.
Somesh works ............... . a farm,
Gold is found ...... e Africa.

........ <wee.. the end, he won the game.

The train is running ......... e time,
He came back ...ccccoceriinninns time for the project.
We work from 9 am. ............... 5 p.m.

6. Correct the following sentences of adverbs (Any eight) : 8

(a) India defeated Pakistan in cricket at length.

(b) He eagerly wishes to go to him.

(¢) Ramesh speaks the truth seldom. 8.

(d) She is very weaker than Meena.

(e) Raghu is enough powerful to defeat him.

(f) She only sang two songs.

(g) We went to theatre yesterday.

(h) He can't scarcely see any thing in light.

(i) Unless you don't help me, I cannot pass.

() This room is rather airy and comfortable.
16533/400/KD/714 4

16533/400/KD/714 5

Complete each sentence by filling in the adjective equivalents

given in the brackets (Any eight) : 8

(a) Heis ..o (the weakest/weaker) of the two.

(by He is the ........... (poorest/most poorest} man in the
city.

(¢) Ramesh is ....... e (cleverer/more clever) than
intelligent.

(d) T shall stay at Goa for ........... (few/a few) days.

(e) NO ..o (lesser/fewer) than ten students came for
the movie.

(fh  He does not have .............. (something/anything) to say.

tg) Of gold and silver, the ......... oo (last/latter) is cheaper.

(h) Raghavis ... A (elder/older) than has sister.

(i) There are ........... {many/much) books in the hibrary.

(j) He completed the lesson without .............. (farther/

further) delay.
Frame sentences by using any eight sentence patterns @ 3
{a) Sub + Verb + Object.
(b) Sub + Verb + Adjective + to-infinitive.
(¢c) Sub + Verb + Adverb + Pro(noun).
(d) Sub + Verb + Direct object + Adjective.
(e) Sub (it) + be + Adjective/Noun + Noun clause.

(f) Sub + Verb + Adverbial complement.

[P.T.O.



(h) Who was known as a Father of Creating Political
Consciousness in the Indians mind ?

() Tilak

(i) Gokhale

(ifi) Vipin Chandra Paul

(iv) Marx.

qE ® W W TeRfeE W Se=w wW
frame TR W ¥?

@ fro=

(i) TER

(i) fafm == T

(iv) W=l

16565/150/KD/454 6

Roll NO. v o Total Pages : 6
BSM/D-17 16565
POLITICAL SCIENCE
(Indian Political Thinkers-I)
Paper-II

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal
marks.

Az . e ule av @ S Afw w9 uwl @ sfe T
-

1. Is Raja Ram Mohan Roy the founder of Modern India ? 16
T THAET TT A A B e §?

2.  Explain the social and educational ideas of Swami Dayanand
Saraswati. 16

@ e W s o e frEr W
FouiR FUI

3. Explain the ‘Drain Theory’ presented by Dada Bhai Naoroji.

16

T Wt AN g w=E ‘vw w e’ ® fagm W
TR F|
4. Explain the political ideas of Gopal Krishan Gokhale. 16

TEET T ® e fER # oA W
16565/150/KD/454 [P.T.O.



Swami Vivekanand was a Religious Reformer. Explain.
16

@ faeE< T ud gurRE 9 e

Explain Aurobindo's philosophy of Passive Resistance. 16

gz & frael Ry &1 uwon ®1 9ue HX

Describe the political ideas of Lala Lajpat Rai. 16
A S T4 ® (OHTaE e’ W avm ]

“Swaraj is my birth right and I shall have it.” In the light of
this statement explain Tilak's views about Swaraj. 16

‘et BT TS SER ¥ el H W we W W
faeor & g AMe WOS we few % faEn @
ol H

Multiple choice questions.

TgfaFeda T
(a) Who established ATMIYA Sabha ?
(i) Rabindra Nath Tagore
(i) Vipin Chandra Paul
(1)) Raja Ram Mohan Rai
(iv) Karl Mark.

‘o’ | EY TOA fRER @ edt?
G T Ay TR A
G fafm == v« A

(2x8=16)

16565/150/KD/454 2

)

©

G) TN TEEER T A

Gv) ® T A

Who is known as the Martin Luther of India ?
(i) Raja Ram Mohan Rai

(ii)) Dr. Ambedkar

(ili) Dayanand Saraswati

(iv) Dada Bhai Naoroji.

GRA F AR TR RFY wE W 87
G TSN THEREA T W

@) T TEESFC F

@) AR G W

Gv) =& O AR

Who is known as the Father of Economic Nationalism
in India ?

(v Dada Bhai Naoroji

(i) Tilak

(iti) Gokhale

(iv) Vivekanand.

qra N oifdE TeER w1 W R WA o @7
@ T o ARt @

(i) foo= =

(i) TS

(iv) fEwm= N

16565/150/KD/454 3 FTe.



(d) Who established Servants of India Society ?
(i) Gopal Krishnan Gokhale
(i) Tilak
(iii) Lala Lajpat Rai
(iv) Aurobindo Ghosh.
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(e) Ram Krishnan Mission was established in
(i) Almora
(i) Bara Nagar
(iii) Baloor
(iv) Chicago.
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Main characteristic of Aurobindo's Passive Resistance
is

(i) Boycott of British goods

(i) Boycott of Educational Institutions

(iii) Boycott of courts

(iv) All the above.
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Main writings of Lala Lajpat Rai were
(1) Mazzini and Garibaldi

(ii)) Unhappy India

(iii) A Call to Young India

(iv) All the above.
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